PRRTKEERHEREERBERRAREN)

5y No. T 4 W b S
T 1 B L (£ BT ) DT 207
=y 2 EXR S0 NI 100
JE 3 S D A7 A L NI 792
e 4 FIELL DI 200
=y 5 =2 7)) —REJEIE T NI 80
JE 6 e FJELET 7T 30
JE 7 FI BT EBERE T DT 30
JE 8 FT EAHL L AT 110
i 9 FRZE L DT 90
JE 10 FINERET T 200
JE 11 a7V —RET A L T 5
JE 12 e FEIaE L DT 5
JEN 13 HHFHA T (o h—L) 7T 100
J 14 PR T NI 5
JE 15 JE M)A E T (W=400) AT 102
JE 16 JE M)A E T (W=150 ke 5 ) DT 100
S 17 E RSP ET (W=150 EEE) T 50
= 18 WA e s - R L NI 16
JE 19 e r—T )V HFR T DT 0
= 20 Bk~ R— L0 R L DT 100
JE 21 Rk~ s — b - I i dm L AT 5
Bk 22 B it % AR NG 24
- 23 A idcEEx Cry b i L 54 220
= 24 Bt E fitiax (7 73 BRI\ I T L NI 0
ek 25 L sy OK i hilE =) JE i L DEE 2
JE 26 HA T = AR A L DT 10
JE 27 N ALK A T AT 2972
ek 28 AEEAT H A T m 300.0
- 29 AE AT A L m 3000.0
= 30 WU R A7 9 L m 200.0
ik 31 AT Rk A7 A T DT 10
- 32 U Rk A7 985 T (FRA) m 200.0
J 33 U Rk A7 i L (FRA) NI 10
Rk 34 U & e far L DT 280
e 35 WU & E T L CRIEZ) NI 15
B 36 i Py B 1 h 98.0
B 37 o /K By S T h 98.0
JE 38 A GG L m 50.0
= 39 /N o — I BLERiS T (4t) h 30.0
= 40 /3% 2 — I\ HLjE RS 1(8t) h 68.0
ek 41 T O AFE) T 15 30
J 42 HiE Bk T m 0.0
Rk 43 E B RK E T G f L DT 900
e 44 EHRAKET 2B ET AR L DT 2427
J 45 8 PN i iE44 (o 150) m 606.0
= 46 W& N mERE T (¢ 150) NG 101
B 47 BERNmERET (¢ 150~200) DT 1
= 48 ‘BN I ERE T (¢ 2560~380) AT 5
= 49 BN ERE T (¢ 400~450) NG 1
B 50 BRNmERET (¢ 500~600) DT 1
= 51 B RN IERE T (¢ 700~750) AT 1
JE 52 — (AN AR AE T ( 250~300) P 1
B 53 — AR N i E 1 (¢ 350) DT 1
J 54 — (RN A AE T (¢ 400~450) T 1
JE 55 B A= 1 T (¢ 2560~300) 7P 1
= 56 Xy A1 — 1K L (¢ 200~350) L 5.0
i 57 37— 1E K T. (¢ 400~600) L 5.0
= 58 S U BR 25 T (AR DT 2
JE 59 LA )VERZE T (B ) T 2
S 60 ARAR <o B2 T (R ) T 2
Jik 61 ENLHNVERET(ANN) T 1
5 62 B O BT (B AR) NI 1
J= 63 A 23— R IR A T (5em Ai) m2 5.0
= 64 A= R IR FEE T (5em DL |) m2 5.0
5 65 EEEGEEN m 37.9
S 66 fav B TH T m3 10.0
=y 67 EiEEIH T m2 101.0
5 68 S RIE I T m2 51.0
JE 69 AL —ay U TIEIH T m2 5.0
Jik 70 PEHI T m3 11.0
&k 71 PREL T m2 1500.0
JE 72 X0 AL t 0.500
= 73 %5 T ()5 20cm A i) A 3
e 74 fr T (& 20cm Ll _E30cm AT ) N 3
- 75 B T (885 30cmPL F-60cmAjim) N 3
JE 76 HE DR - BN T S 1
R 77 B[] oD IR TE T AT 2
- 78 SN T 10
J 79 ‘B B LB A R T NI 41
& 80 i bR e R T 2T 24




TRRTKEEREFETEXBELENRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 10.0
= 82 P KGEE KSR T km 26
JE 83 =) — N B PR ALEE T t 10.000
= 84 R L T t 3.000
Je 85 T HhiEHR T m3 8.0
JE 86 YRV BEA TR ALEE T t 1.500
JE 87 BE "7 AT 7 EHRALEL T t 1.000
JE 88 T KETG RS E Ak T (4t) [m] 11
B 89 T KIE VG e 1 (8t) ] 57
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 5.0
JE 92 B SR T t 0.100
JE 93 Ao TR ERE T % 1
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 1
IS 95 A7 s L (0~40m3 A o ) i H 1
S 96 &7 dEns L (40~120m3 Vi TF ) = H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BTV T h 10.0
J= 99 RSB HEA AH 15.0
= 100 Rk i 5B AH 15.0
" 101 BiHER A T (9 B &) DT 20
w 102 ATE D AT A T I 60
" 103 F9 L LT I 5
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
" 111 YR F9 ek L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 10
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 45
® 120 AEIEAT B AR L m 600.0
® 121 K A7 A L m 20.0
®" 122 U R 0 A7 Bt 1T m 1.0
® 123 AT & Bk 1 AT & L I 20
® 124 U R ek 0 A7 et L (FFA ) m 1.0
" 125 BB Rk A7 A L (FFiA) NI 15
w" 126 R i AN 5
1’ 127 U & E T L CRIEZE) NI 105
" 128 15 PEYF BRI h 105.0
" 129 Fo 7K ELYE S h 0.0
1’ 130 A GG m 10.0
[ 131 /N o — LG L (4L) h 95.0
" 132 /N o — SHLE RS 1(8t) h 10.0
1’ 133 T O AFE) T 13 0
" 134 EFS K ET I fm L DT 400
® 135 EHRAKET 2B ET SR L NG 1000
& 136 U N s EAS (¢ 150) m 126.0
" 137 B N & fRE L (¢ 150) NG 21
® 138 ERBENIEERE T (¢ 150~200) DI 1
" 139 BN iERE T (¢ 250~380) DHE 1
" 140 BN ERE T (¢ 400~450) ANGIN 1
w" 141 BRENmEERET (¢ 500~600) DEE 0
w" 142 ERENIEERE T (¢ 700~750) DI 0
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 0
" 146 Bt 7EEIE T (¢ 250~300) i 1
w" 147 3> 71— 1EK T (¢ 200~350) L 10.0
1’ 148 34— 1E KL (¢ 400~600) I 10.0
" 149 ZE T E BRE T (BEHR) DHT 0
®" 150 E/LZVERE T (B NI 1
" 151 AAR - X R T (B ) NI 0
®” 152 ENLHLVERET(ANN) AT 0
" 153 e DA BT () NI 1
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A2 N—h IR A T (5em DL |) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 3.0
" 158 BiIEEIH T m2 5.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




PTRRTKEEREFETEXBELENRER)

%

<53 No. TOm 4 B P B4 Hi
[ 161 FERT L m3 0.0
" 162 PReE T NI 3
" 163 AR BN A T h 2.0
I 164 T KEE KRR T km 1
" 165 R 7R EME T DAL 1
" 166 &7 ERn T (0~40m3 ATy TF A F) B H 1
® 167 &7 dis L (40~120m3 AT TF W) BH 1
" 168 BREXHS R T h 5.0
" 169 RSB HEA AH 1.0
I 170 AR S 2 H B AH 12.0
AR 200 Fh s T AHER [m] 489
FEE 201 1HARES HZE (JLE) JIE] 141
M 202 V5K ET H B (VD) JIE] 73
ME 203 15K ESH _EES (IHAD) i 4
ME 204 1HAKET RS (ham) [ 39
M 205 15K ET HZEARE M HERE) (Jhm) [ 4
ME 206 15K E 3 IS i 5
ME 207 15K ES H D JIE] 5
ek 208 V5K F ke cm 475
BB 209 Rk K ES BERL I 3
FEE 210 FEERIE K E T EER2 1 3
L 211 FERIE K £ HD JIE] 2
ME 212 FeRIG K ET T JIE] 2
A 213 RERTG K &4 JIE] 2
FEE 214 e (0 100) m 4.0
Mk 215 Hb & (¢ 150) m 5.0
FEEF 216 | EAWE I E L & (¢ 200) m 5.0
Mk 217 RN IEF T 8E (5K - /K@) & 15
pE 218 [REETHZEARET (4 200) i 10
R 219 |HE F7EHE (6100 157307 ) {E 3
R 220  PEE AR (150 15° 307 ) 1E] 3
AL 221 A 7)== (¢ 150 X 100) JIE] 5
OEF 222|170 —(¢ 200 X 150) [l 15
e 223 B 5.7 (¢ 150) [ 510
M 224 BRI 7 (¢ 200) JIE] 30
ok 225 B i 1IE 5 (¢ 100) [ 10
e 226 B Bt 1 57 (¢ 150) [ 10
Mk 227 WrElss Clse ) (CEZE =0 HH. 18
M 228 WrahZs (ARl H) JIE] 18
L 229 7V —F ) SR E b R JIE] 5
Mk 230 THIRAKET HE & 1
A 231 EHIRN K E9H B JIE] 1
L 232 EHRAKE S H JIE] 1
Mk 233 THIRAKET LS cm 1
ME 234 FEHRAKETH T ED JIE] 1
FE 235 J)L—A 57— (¢ 100) [ 2
e 236 |)L—AH7— ($150) fl 10
ME 237 T AL~k & 30
ME 238 TR ZN 5
FrEL 239 |SP (4 150) S :
ME 240 HE IR N 1
ME 241 15 /K BB 8% 25 (4 P k) HH 3
ML 242 VUFry7 (¢ 100) JIE] 2
ME 243 VU¥vv7 (¢ 150) JIE] 2
ME 244 VUFry7" (¢ 200) [ 10
ek 245 T KIE RS e e 0 7404 (¢ 150) J[E] 50
HE 246 T KE RS e s 17404 (¢ 200) JIE] 5
PME 247 FAKERIEE T B HIAR VMA) JIE] 1
ek 248 FKER S £ R JIE] 1
ME 249 TKERBEET P J[E] 1
ME 250 FKER G ET RS (T-25 K VNA) [ 1
M 251 e 07— (¢ 100) [ 1
pE 262 |z 07— (¢ 150) fiH L
ME 253 sz 07— (¢ 200) [ 1
MEH 254 #H1ED AR GRA) (W150) i 1
ME 255 HIED BiE=RE) (W200) s 1
bE 256 1R ias LR ED (W300) i 1




X TREER#EGFEEXFETEBENRE )

5y No. T 4 W b S
T 1 B L (£ BT ) DT 291
=y 2 EXR S0 NI 300
JE 3 S D A7 A L NI 792
e 4 FIELL DI 200
=y 5 =2 7)) —REJEIE T NI 240
JE 6 e FJELET 7T 30
JE 7 FI BT EBERE T DT 30
S 8 FT EAHL L NI 160
B 9 FRZE L DT 70
JE 10 FINERET T 400
JE 11 a7V —RET A L T 20
JE 12 e FEIaE L DT 5
JEN 13 HHFHA T (o h—L) 7T 120
J 14 PR T NI 5
JE 15 JE M)A E T (W=400) AT 100
JE 16 JE M)A E T (W=150 ke 5 ) DT 100
S 17 E RSP ET (W=150 EEE) T 50
= 18 WA e s - R L NI 71
JE 19 e r—T )V HFR T T 36
JR 20 ek~ o R— L0 R R T AT 50
JE 21 Rk~ s — b - I i dm L AT 5
5 22 O PR it g% mR L NG 0
- 23 A idcEEx Cry b i L 54 0
= 24 Bt E fitiax (7 73 BRI\ I T L NI 0
ek 25 L sy OK i hilE =) JE i L DEE 0
JE 26 HA T = AR A L DT 5
JE 27 N ALK A T AT 4981
ek 28 AEEAT H A T m 400.0
- 29 AE AT A L m 4000.0
= 30 WU R A7 9 L m 200.0
ik 31 AT Rk A7 A T DT 10
- 32 U Rk A7 985 T (FRA) m 200.0
J 33 U Rk A7 i L (FRA) NI 10
Rk 34 U & e far L DT 130
e 35 WU & E T L CRIEZ) NI 15
B 36 i Py B 1 h 262.0
B 37 o /K By S T h 262.0
JE 38 A GG L m 30.0
= 39 /N o — I BLERiS T (4t) h 20.0
= 40 /3% 2 — I\ HLjE RS 1(8t) h 242.0
ek 41 T O AFE) T 15 40
J 42 HiE Bk T m 0.0
Rk 43 BB K E T I fm L DT 70
e 44 EHRAKET 2B ET AR L DT 151
J 45 8 PN i iE44 (o 150) m 780.0
= 46 B N {E#kE T (¢ 150) NI 130
B 47 BERNmERET (¢ 150~200) DT 2
= 48 ‘BN I ERE T (¢ 2560~380) AT 20
= 49 BN ERE T (¢ 400~450) NG 2
B 50 BRNmERET (¢ 500~600) DT 1
= 51 B RN IERE T (¢ 700~750) AT 1
JE 52 — (AN AR AE T ( 250~300) P 1
B 53 — AR N i E 1 (¢ 350) DT 1
J 54 — (RN A AE T (¢ 400~450) T 1
JE 55 B A= 1 T (¢ 2560~300) 7P 1
= 56 Xy A1 — 1K L (¢ 200~350) L 5.0
i 57 37— 1E K T. (¢ 400~600) L 5.0
= 58 S U BR 25 T (AR DT 2
5 59 E)LAVERE T (B #R) T 2
S 60 ARAR <o B2 T (R ) T 2
B 61 EILHIVERET.(ANN) P 1
5 62 B O BT (B AR) NI 1
J= 63 A 23— R IR A T (5em Ai) m2 9.0
= 64 A= R IR FEE T (5em DL |) m2 15.0
5 65 EEEGEEN m 98.1
S 66 fav B TH T m3 10.0
=y 67 EiEEIH T m2 105.0
5 68 S RIE I T m2 55.0
JE 69 AL —ay U TIEIH T m2 2.0
Jik 70 PEHI T m3 22.0
&k 71 PREL T m2 3600.0
JE 72 X0 AL t 2.500
= 73 %5 T ()5 20cm A i) A 1
e 74 fr T (& 20cm Ll _E30cm AT ) N 1
- 75 B T (885 30cmPL F-60cmAjim) N 1
JE 76 HE DR - BN T S 1
R 77 B[] oD IR TE T AT 2
- 78 SN DT 5
J 79 ‘B B LB A R T NI 103
& 80 i bR e R T 2T 22




ERFRKEERMESEEEBEERENRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 10.0
= 82 K E A K SRR T km 24
JE 83 =) — N B PR ALEE T t 15.000
= 84 R L T t 3.000
Je 85 T HhiEHR T m3 10.0
JE 86 YRV BEA TR ALEE T t 1.300
JE 87 BE "7 AT 7 EHRALEL T t 1.000
JE 88 KBS Je S E R 1T (4t) [m] 10
B 89 T KIE VG e 1 (8t) [E] 76
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 1.0
JE 92 B SR T t 0.100
JE 93 Ao TR ERE T % 1
i 94 &7 @as T (0~40m3 Ay 1F Hf) = H 1
JE 95 &7 1Egn T (0~40m3 A<y i o) &= H 1
S 96 &7 dEns L (40~120m3 Vi TF ) B H 1
i 97 &7 s L (40~ 120m3 AT i F) = H 1
JE 98 BTV T h 10.0
J= 99 RSB HEA AH 15.0
= 100 Rk i 5B A H 15.0
" 101 BiHER A T (9 B &) DT 10
w 102 ATE D AT A T I 13
" 103 F9 L LT I 2
" 104 2 7)—hEJTEIE T i 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
"’ 111 e ETaE L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 5
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 30
® 120 AEIEAT B AR L m 300.0
® 121 K A7 A L m 20.0
®" 122 U R 0 A7 Bt 1T m 1.0
® 123 AT & Bk 1 AT & L I 20
® 124 U R ek 0 A7 et L (FFA ) m 1.0
" 125 BB Rk A7 A L (FFiA) NI 10
w" 126 R i AN 1
1’ 127 BB i L (R1ESE) NI 30
" 128 1 ey B s h 30.0
" 129 Fo 7K ELYE S h 0.0
1’ 130 A GG m 0.0
[ 131 /N o — LG L (4L) h 30.0
" 132 /N o — SHLE RS 1(8t) h 10.0
1’ 133 T O AFE) T 13 0
" 134 EFS K ET I fm L DT 10
® 135 EHRAKET 2B ET SR L DHE 20
" 136 & N e (¢ 150) m 42.0
" 137 B N & fRE L (¢ 150) NG 7
w" 138 ERBENIEERE T (¢ 150~200) DI 1
" 139 BN iERE T (¢ 250~380) DHE 1
" 140 BN HEERE L (6 400~450) ANGIN 1
w" 141 BRENmEERET (¢ 500~600) AT 0
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 1
" 146 B 7= 1 T (¢ 2560~300) i 1
w" 147 3> 71— 1EK T (¢ 200~350) L 10.0
1’ 148 Xy J1— 1 KT (¢ 400~600) I 10.0
" 149 ZE T E BRE T (BEHR) DHT 0
®" 150 E)LAVERE T (B k) NI 1
w” 151 AR o R T (FER) DT 0
®” 152 ENLHLVERET(ANN) AT 0
" 153 e DA BT () NI 1
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A N— R IR T (5em DL ) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 5.0
" 158 BiIEEIH T m2 5.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




ERFRKEERMESEEEBEZTRENRE®)

%

<53 No. TOm 4 B P B4 Hi
[ 161 FERT L m3 0.0
& 162 |IRE L DS 3
" 163 AR BN A T h 2.0
I 164 T KEE KRR T km 1
" 165 R 7R EME T DAL 1
" 166 &7 ERn T (0~40m3 ATy TF A F) B H 1
® 167 &7 dis L (40~120m3 AT TF W) BH 1
" 168 BREXHS R T h 5.0
® 169 RSB HEA AH 1.0
w 170 A 2 H B AH 7.0
ME 201 HAREST HE JLal) i 281
ME 202 15K FETH _EER (/)R JIE] 220
M 203 V5K ETH _EEE (IHAD) JIE] 4
ME 204 1K E T aE (Glhm) i 84
ME 205 HAKET RS E@EES) i) JIE] 4
M 206 15K E 3 IS JIE] 5
ME 207 15K E9 H K J[E] 5
Kk 208 15K E3 S cm 1324
ML 209 Fepkih /K £9 BB JIE] 3
ME 210 FrRiG K £4 L5682 JIE] 2
B 211 Fepkis 7K £9 R JIE] 2
L 212 FeRiG K £ T8 JIE] 2
B 213 FEERG K £ SRR 1lE 2
R 214 REEE (¢ 100) m 3.0
Mok 215 FEv e (¢ 150) m 3.0
e 216 SL_ESOE FHE R E (¢ 200) m 3.0
ok 217 e RN L E T8 E (5K - /K m) [ 15
e 218 TV E HAIARET (4 200) & 10
BB 219 [t AfElE (¢ 100 15° 30° ) {E 5
R 220 |Gt AfEmE (¢ 150 15° 307 ) {E 5
MEH 221 A 7)== (¢ 150 X 100) 1E] 2
BB 222 A 7)== (¢ 200 X 150) 1l 10
PR 223 |BiRIV7 (¢ 150) [l 60
e 224 §5 597 (¢ 200) [ 10
M 225 B0 158 (¢ 100) JIE] 4
M 226 5 i IE 5 (¢ 150) JIE] 5
e 227 WrEhE O ) (CEE TR HH 18
Mk 228 Wl (Wil H) & 18
ok 229 IV—F 1 S ER R JIE] 3
L 230 EHRAKETHE JIE] 5
AL 231 EHRARESTHH EE JIE] 5
A 232 EHIRN K E9 P JIE] 1
B 233 THIURN K E3 TR cm 1
M 234 EHRKET H b JIE] 1
bE 235 L —Xh7— (¢ 100) f L
FE 236 L—2 77— (¢ 150) [ 10
M 237 T AL~k 1 100
ME 238 T ISR ZN 1
FE 239 SPE (¢ 150) N 2
M 240 TH R R N 1
ME 241 15 /KB B 8% 25 (A 3E) HH 1
ME 242 VU7 (¢ 100) [ 2
ML 243 VUFvy7 (¢ 150) JIE] 2
ME 244 VUFvv7 (¢ 200) JIE] 8
ME 245 T KER S e H & 07404 (¢ 150) JIE] 5
ek 246 T KIE RS e e 0 7404 (¢ 200) J[E] 4
e 247 TKEREES EEL AR IVMNA) JIE] 1
PME 248 KBRS £ 9 RS JIE] 1
ek 249 TAKEREET Fab JIE] 1
pE 250 | F/KiEIR B £ 9 HEkE (T-25 K VNA) 118 1
ME 251 sz 07— (¢ 100) [ 3
Bk 252 W~ 17— (¢ 150) 18] 1
pE 263 |z 07— (¢200) fiA L
ME 254 HIED AR GRA) (W150) H 1
B 255 Fuikd MiAE =N (R H) (W200) = 1
MEL 256 o i R ) (W300) = 1




EEXRTKEERMHSEEXBERENREN)

B No. T W 4 C g = 0440 ¥ A1
T 1 B L (£ BT ) DT 189
=y 2 EXR S0 NI 250
JE 3 S D A7 A L NI 791
e 4 FIELL DI 210
=y 5 =2 7)) —REJEIE T NI 230
JE 6 e FJELET NI 30
JE 7 FI BT EBERE T DT 40
JE 8 FT EAHL L T 80
B 9 PHIE T DT 70
JE 10 FINERET DT 300
JE 11 a7V —RET A L T 10
JE 12 R FI e L AT 10
R 13 HIHFHE T (= h—1) At 130
J 14 PR T NI 5
JE 15 JEEMEMEIE T (W=400) NG 122
JE 16 JEHEEPE T (W=150 fETE) NI 100
S 17 E RSP ET (W=150 EEE) T 51
= 18 WA e s - R L DT 25
JE 19 e r—T )V HFR T T 33
- 20 Rk~ 7R—/ L« I 0 g L DT 300
= 21 Frik~ L 7 —) L - O {E T L DT 10
Bk 22 B it % AR NG 28
- 23 A idcEEx Cry b i L 54 280
= 24 A hax (773 - HEpR ) i fw L DT 0
ek 25 L sy OK i hilE =) JE i L DEE 1
JE 26 HA T = AR A L DT 3
JE 27 N ALK A T T 4021
ek 28 AEEAT H A T m 500.0
- 29 AE AT A L m 4000.0
= 30 WU R A7 9 L m 200.0
ik 31 AT Rk A7 A T DT 10
= 32 U Rk A7 985 T (FRA) m 0.0
J 33 U Rk A7 i L (FRA) NI 0
Rk 34 U & e far L DT 150
e 35 WU & E T L CRIEZ) NI 10
B 36 i Py B 1 h 214.0
B 37 o /K By S T h 214.0
JE 38 A GG L m 50.0
= 39 /N o — I BLERiS T (4t) h 10.0
= 40 /3% 2 — I\ HLjE RS 1(8t) h 204.0
ek 41 DIk T 45 10
J 42 HiE Bk T m 0.0
Rk 43 BB K E T I fm L DT 10
e 44 EHRAKET 2B ET AR L DT 30
J 45 8 PN i iE44 (o 150) m 774.0
= 46 W& N mERE T (¢ 150) NG 129
B 47 BERNmERET (¢ 150~200) NI 1
= 48 ‘BN I ERE T (¢ 2560~380) AT 5
= 49 BN ERE T (¢ 400~450) NG 1
B 50 BRNmERET (¢ 500~600) NI 1
= 51 B RN IERE T (¢ 700~750) AT 0
JE 52 — (AN AR AE T ( 250~300) NG 1
B 53 — AR N i E 1 (¢ 350) DT 1
J 54 — (RN A AE T (¢ 400~450) T 1
JE 55 B A= 1 T (¢ 2560~300) 7P 1
JE 56 3 77— 1EK T (¢ 200~350) L 5.0
JE 57 X 71— 1E7K T (¢ 400~600) L 5.0
=y 58 S U BR 25 T (AR NI 1
5 59 LA )VERZE T (B ) DT 1
S 60 ARAR <o B2 T (R ) T 1
=y 61 ENLHNVERET(ANN) DAL 1
5 62 B O BT (B AR) NI 1
J= 63 A 23— R IR A T (5em Ai) m2 7.0
= 64 A= R IR FEE T (5em DL |) m2 6.0
5 65 EEEGEEN m 49.1
S 66 fav B TH T m3 10.0
=y 67 EiEEIH T m2 105.0
5 68 S RIE I T m2 55.0
JE 69 AL —ay U TIEIH T m2 2.0
Jik 70 PEHI T m3 22.0
&k 71 PREL T m2 7000.0
JE 72 X0 AL t 3.500
=y 73 R8¢ T (535 20cm A i) N 1
. 74 BT (@ )5 20cm L -30cm A< ) K 1
- 75 B T (885 30cmPL F-60cmAjim) A 1
JE 76 HE DR - BN T S 1
R 77 B[] oD IR TE T AT 1
- 78 SN T 5
J 79 BB B S UhLSR T NI 62
I 80 b e M S e R T 23T 17




RXRTKEEBRHGEEXRFERENRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 5.0
= 82 P KGEE KSR T km 40
JE 83 =) — N B PR ALEE T t 10.000
= 84 R L T t 3.000
Je 85 T HhiEHR T m3 5.0
JE 86 YRV BEA TR ALEE T t 1.300
JE 87 BE "7 AT 7 EHRALEL T t 1.000
JE 88 KBS Je S E R 1T (4t) e 5
B 89 T KIE VG e 1 (8t) [E] 65
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 5.0
JE 92 B SR T t 0.100
JE 93 Ao TR ERE T % 1
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 1
IS 95 A7 s L (0~40m3 A o ) i H 1
S 96 &7 dEns L (40~120m3 Vi TF ) = H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BTV T h 10.0
J= 99 RSB HEA AH 15.0
= 100 Rk i 5B AH 15.0
" 101 BiHER A T (9 B &) DT 10
w 102 ATE D AT A T I 4
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
"’ 111 e ETaE L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 5
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 30
® 120 AEIEAT B AR L m 250.0
® 121 K A7 A L m 20.0
®" 122 U R 0 A7 Bt 1T m 1.0
® 123 AT & Bk 1 AT & L NI 0
® 124 U R ek 0 A7 et L (FFA ) m 0.0
" 125 BB Rk A7 A L (FFiA) NI 10
w" 126 R i AN 1
1’ 127 U & E T L CRIEZE) NI 15
" 128 15 PEYF BRI h 15.0
" 129 Fo 7K ELYE S h 0.0
1’ 130 A GG m 0.0
® 131 /NF o — A LS (4t) h 15.0
" 132 /N o — SHLE RS 1(8t) h 5.0
1’ 133 T O AFE) T 13 0
" 134 EFS K ET I fm L DT 10
® 135 EHRAKET 2B ET SR L DHE 10
" 136 & N e (¢ 150) m 42.0
" 137 B N & fRE L (¢ 150) NG 7
® 138 ERBENIEERE T (¢ 150~200) DI 1
" 139 BN iERE T (¢ 250~380) DHE 1
" 140 BN HEERE L (6 400~450) ANGIN 1
® 141 BRENmEERET (¢ 500~600) AT 0
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 0
" 146 Bt 7EEIE T (¢ 250~300) DI 0
w" 147 3> 71— 1EK T (¢ 200~350) L 10.0
1’ 148 34— 1E KL (¢ 400~600) I 10.0
" 149 ZE T E BRE T (BEHR) DHT 0
®" 150 LA )VERZE T (B ) NI 1
" 151 AAR - X R T (B ) NI 0
®” 152 ENLHLVERET(ANN) AT 0
" 153 e DA BT () NI 0
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A2 N—h IR A T (5em DL |) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 5.0
" 158 BiIEEIH T m2 5.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




REXRTKEEBRHGEEXRFEZREENRE®R)

%

<53 No. TOm 4 B P B4 Hi
[ 161 FERT L m3 0.0
" 162 PReE T NI 3
" 163 R A S B R A T h 2.0
w 164 T KEE KRR T km 0
" 165 R 7R EME T DAL 0
" 166 &7 dEs L (0~40m3 AT TF 2 HF) B H 0
® 167 &7 dis L (40~120m3 AT TF W) BH 0
" 168 BREXHS R T h 5.0
" 169 RSB HEA AH 0.0
w 170 A 2 H B ANH 7.0
ME 201 HAREST HE JLal) i 235
ME 202 15K FETH _EER (/)R JIE] 210
M 203 V5K ETH _EEE (IHAD) JIE] 3
ME 204 1K E T aE (Glhm) i 54
ME 205 HAKET RS E@EES) i) JIE] 3
M 206 15K E 3 IS JIE] 3
ME 207 15K E9 H K J[E] 5
Kk 208 15K E3 S cm 675
ML 209 Fepkih /K £9 BB JIE] 2
ME 210 FrRiG K £4 L5682 JIE] 1
e 211 Fepkis 7K £9 R JIE] 1
L 212 FeRiG K £ T8 JIE] 1
B 213 FEERG K £ SRR 1lE 1
R 214 REEE (¢ 100) m 3.0
B 215 HatE (¢ 150) m 3.0
e 216 SL_ESOE FHE R E (¢ 200) m 3.0
ok 217 e RN L E T8 E (5K - /K m) [ 15
Rk 218 PR FTHZEIAMRT (4 200) 1] 10
BB 219 [t AfElE (¢ 100 15° 30° ) {E 3
R 220 |Gt AfEmE (¢ 150 15° 307 ) 1 3
MEH 221 A 7)== (¢ 150 X 100) 1E] 3
BB 222 A 7)== (¢ 200 X 150) 1l 10
e 223 B 597 (¢ 150) [ 30
e 224 §5 597 (¢ 200) [ 5
M 225 B 57 1IE 7 (¢ 100) JIE] 5
FIEF 226 PG5 IET (¢ 150) 1] 5
e 227 WrEhE O ) (CEE TR . 18
Mk 228 Wl (Wil H) & 18
FE} 229 JV—F ) RER R E [ 3
L 230 EHRAKETHE JIE] 2
AL 231 EHRARESTHH EE JIE] 2
A 232 EHIRN K E9 P JIE] 1
B 233 THIURN K E3 TR cm 1
M 234 EHRKET H b JIE] 1
ME 235 JL—AH7—($ 100) JIE] 1
FE 236 L—2 77— (¢ 150) [ 10
BEE: 237 I L~k 1 100
BE 238 TH IR AE N 1
WE 239 |SP% (¢ 150) G 3
MEH 240 |iH#EIK A 1
HE 241 |15 AKPHERE I (e P de) il L
ME 242 VU7 (¢ 100) [ 3
ML 243 VUFvy7 (¢ 150) JIE] 3
ME 244 VUFvv7 (¢ 200) JIE] 5
ME 245 T KER S e H & 07404 (¢ 150) JIE] 1
ek 246 T KIE RS e e 0 7404 (¢ 200) J[E] 1
e 247 TKEREES EEL AR IVMNA) JIE] 1
PME 248 KBRS £ 9 RS JIE] 1
ek 249 TAKEREET Fab JIE] 1
ME 250 FKER S £ PR (T-25 & VhA) J[E] 1
ME 251 sz 07— (¢ 100) [ 1
M 252 e 07— (¢ 150) [ 1
pE 263 |z 07— (¢200) fiA L
ME 254 HIED AR GRA) (W150) H 1
M 255 HIED BiaENCRH) (W200) S 1
R 256 RS i (R H) (W300) L 1




BERTKEEREREEXBEERTANREN)

5y No. T 4 W b S
T 1 B L (£ BT ) DT 137
=y 2 EXR S0 NI 149
JE 3 S D A7 A L DT 407
e 4 FIELL DI 98
=y 5 =2 7)) —REJEIE T NI 95
JE 6 e FJELET 7T 15
JE 7 FI BT EBERE T DT 10
S 8 FT EAHL L NI 100
JE 9 PHZE T DT 5
JE 10 FINERET T 100
JE 11 a7V —RET A L T 20
N 12 e F9 a% e L EIT 5
JEN 13 HHFHA T (o h—L) 7T 100
J 14 PREREE T T 10
JE 15 JE M)A E T (W=400) AT 10
I 16 RS EE T (W=150 AFE%) DT 83
S 17 E RSP ET (W=150 EEE) T 10
= 18 WA e s - R L NI 32
JE 19 e r—T )V HFR T T 52
= 20 Bk~ R— L0 R L DT 269
JE 21 Rk~ s — b - I i dm L AT 7
Bk 22 B it % AR NG 46
- 23 A idcEEx Cry b i L 54 446
= 24 Bt E fitiax (7 73 BRI\ I T L NI 0
ek 25 L sy OK i hilE =) JE i L DEE 3
JE 26 HA T = AR A L DT 10
JE 27 N ALK A T AT 4080
ek 28 AEEAT H A T m 200.0
- 29 AE AT A L m 2010.0
= 30 WU R A7 9 L m 50.0
ik 31 AT Rk A7 A T DT 10
- 32 U Rk A7 985 T (FRA) m 170.0
J 33 U Rk A7 i L (FRA) NI 11
Rk 34 U & e far L DT 70
e 35 WU & E T L CRIEZ) NI 10
B 36 i Py B 1 h 74.0
B 37 o /K By S T h 72.0
JE 38 A GG L m 360.0
JE 39 /N o — I BLERiS T (4t) h 71.0
= 40 /3% 2 — I\ HLjE RS 1(8t) h 18.0
ek 41 T O AFE) T 15 200
J 42 HiE Bk T m 20.0
Rk 43 BB K E T I fm L DT 20
e 44 EHRAKET 2B ET AR L DT 61
J 45 8 PN i iE44 (o 150) m 432.6
= 46 W& N mERE T (¢ 150) NG 95
B 47 BERNmERET (¢ 150~200) DT 12
= 48 ‘BN I ERE T (¢ 2560~380) AT 20
= 49 BN ERE T (¢ 400~450) NG 0
B 50 BRNmERET (¢ 500~600) DT 5
= 51 B RN IERE T (¢ 700~750) AT 0
JE 52 — (AN AR AE T ( 250~300) P 7
B 53 — AR N i E 1 (¢ 350) DT 1
J 54 — (RN A AE T (¢ 400~450) T 1
JE 55 B A= 1 T (¢ 2560~300) 7P 1
= 56 Xy A1 — 1K L (¢ 200~350) L 105.0
J 57 37— 1E K T. (¢ 400~600) L 120.0
= 58 S U BR 25 T (AR DT 2
JE 59 LA )VERZE T (B ) T 2
S 60 ARAR <o B2 T (R ) T 2
Jik 61 ENLHNVERET(ANN) T 3
5 62 B O BT (B AR) NI 8
J= 63 A 23— R IR A T (5em Ai) m2 25.0
= 64 A= R IR FEE T (5em DL |) m2 15.5
5 65 EEEGEEN m 35.0
S 66 fav B TH T m3 15.0
=y 67 EiEEIH T m2 20.0
5 68 S RIE I T m2 20.0
JE 69 AL —ay U TIEIH T m2 5.0
Jik 70 PEHI T m3 10.0
&k 71 PREL T m2 14220.3
JE 72 X0 AL t 1.280
B 73 B T (825 20cm i) N 10
Rk 74 BT (@ )5 20cm L -30cm A< ) K 10
JE 75 B T (885 30cmPL F-60cmAjim) N 10
JE 76 HE DR - BN T S 2
R 77 B[] oD IR TE T AT 2
- 78 SN T 20
J 79 ‘B B LB A R T NI 106
& 80 HiL_ T A % M S R T DT 17




BERTKEERMGFEERBEXEZNRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 20.0
= 82 K E A K SRR T km 5
JE 83 =) — N B PR ALEE T t 5.000
= 84 R L T t 5.000
Je 85 T HhiEHR T m3 1.0
JE 86 YRV BEA TR ALEE T t 1.000
J= 87 WE T 5 AT~ TR VL T t 0.020
JE 88 KBS Je S E R 1T (4t) [m] 14
B 89 T KIE VG e 1 (8t) [E] 5
J 90 27— ZEE R T B 2
= 91 = L MEM I m3 5.0
JE 92 B SR T t 1.000
JE 93 Ao TR ERE T % 1
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 1
JE 95 &7 1Egn T (0~40m3 A<y i o) &= H 1
S 96 &7 dEns L (40~120m3 Vi TF ) B H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BX R V(i T h 1.0
J= 99 RSB HEA AH 25.0
= 100 Rk i 5B A H 25.0
" 101 BiHER A T (9 B &) DT 10
w 102 ATE D AT A T I 10
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
"’ 111 e ETaE L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 20
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 5
® 120 AEIEAT B AR L m 10.0
® 121 K A7 A L m 120.0
®" 122 U R 0 A7 Bt 1T m 10.0
® 123 AT & Bk 1 AT & L I 15
® 124 U R ek 0 A7 et L (FFA ) m 0.0
" 125 BB Rk A7 A L (FFiA) NI 0
® 126 R i DT 10
1’ 127 BB i L (R1ESE) NI 5
" 128 1 ey B s h 8.0
" 129 Fo 7K ELYE S h 8.0
1’ 130 A GG m 15.0
" 131 /N o— s (40 h 8.0
" 132 /N o — SHLE RS 1(8t) h 2.0
1’ 133 T O AFE) T = 100
" 134 EFS K ET I fm L DT 10
® 135 EHRAKET 2B ET SR L DHE 10
" 136 & N e (¢ 150) m 28.4
" 137 B N & fRE L (¢ 150) NG 6
® 138 ERBENIEERE T (¢ 150~200) DI 1
" 139 BN iERE T (¢ 250~380) DHE 1
" 140 BN HEERE L (6 400~450) ANGIN 1
® 141 BRENmEERET (¢ 500~600) AT 1
" 142 ‘B IN I ERE (¢ 700~750) DT 1
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 1
" 146 Bt 7EEIE T (¢ 250~300) i 1
w" 147 3> 71— 1EK T (¢ 200~350) L 0.0
1’ 148 34— 1E KL (¢ 400~600) L 0.0
" 149 ZE T E BRE T (BEHR) DHT 1
®" 150 E)LAVERE T (B k) NI 1
" 151 AAR - X R T (B ) NI 1
I 152 E)LAVERRE T (N ) T 1
" 153 e DA BT () NI 1
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A N— R IR T (5em DL ) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 3.0
" 158 BiIEEIH T m2 3.0
®" 159 EAERE IR T m2 3.0
[ 160 AL B —ayX 7 1EIH T m2 0.0




BERTKEERMGFEERBEXEZNRE®Q)

T

%5y No. T A4 W i B S LA
[ 161 FERT L m3 0.0
& 162 |IRE L DS 10
" 163 AR BN A T h 5.0
w 164 T KEE KRR T km 10
" 165 R 7R EME T DAL 1
" 166 &7 dEs L (0~40m3 AT TF 2 HF) B H 1
® 167 &7 dis L (40~120m3 AT TF W) BH 1
fid 168 B Toat e Efi L h 1.0
fid 169 s EA AH 1.0
w 170 A 2 H B ANH 15.0

ME 201 HAREST HE JLal) i 70

E 202 15K ET S O JIE] 70

M 203 HAKES H _EE (IHAD JIE] 20

ME 204 1K E T aE (Glhm) i 50

ME 205 HAKET RS E@EES) i) JIE] 30

M 206 15K E 3 IS JIE] 10

ME 207 15K E9 H K J[E] 10

Kk 208 15K E3 S cm 578

ML 209 Fepkih /K £9 BB JIE] 3

ME 210 FrRiG K £4 L5682 JIE] 3

e 211 Fepkis 7K £9 R JIE] 3

Mk 212 Rk K EST T & 3

B 213 FEERG K £ SRR 1lE 3

R 214 REEE (¢ 100) m 5.0

MEH 215 HEEE (¢ 150) m 15.0

Bk 216 SL_ESOE FHE R E (¢ 200) m 10.0

ok 217 e RN L E T8 E (5K - /K m) JIE] 5

R 218 PREFIHEANKT (4 200) 1E] 5

B 219 |HHE F{EliE (¢ 100 15°_30° ) {E 4

R 220 |Gt AfEmE (¢ 150 15° 307 ) 1 4

MEH 221 A 7)== (¢ 150 X 100) 1E] 4

Mkt 222 A 7)== (¢ 200 X 150) & 6

BB 223 |BREI7 (¢ 150) [l 3

e 224 §5 597 (¢ 200) [ 3

M 225 B 57 1IE 7 (¢ 100) JIE] 2

FIEF 226 PG5 IET (¢ 150) 1] 2

e 227 WrEhE O ) (CEE TR HH 15

Mk 228 Wl (Wil H) & 15

FE} 229 JV—F ) RER R E [ 2

L 230 EHRAKETHE JIE] 3

AL 231 EHRARESTHH EE JIE] 3

A 232 EHIRN K E9 P JIE] 3

B 233 THIURN K E3 TR cm 100

M 234 EHRKET H b JIE] 3

bE 235 L —Xh7— (¢ 100) f 2

FE 236 J)L—A 57— (¢ 150) [ 5

BEE: 237 I L~k 1 250

ME 238 T ISR ZN 5

FE 239 SPE (¢ 150) N 3

M 240 TH R R N 3

ME 241 15 /KB B 8% 25 (A 3E) HH 2

ME 242 VU7 (¢ 100) [ 2

ML 243 VUFvy7 (¢ 150) JIE] 5

ME 244 VUFvv7 (¢ 200) JIE] 5

ME 245 T KER S e H & 07404 (¢ 150) JIE] 10

ek 246 T KIE RS e e 0 7404 (¢ 200) J[E] 10

e 247 TKEREES EEL AR IVMNA) JIE] 1

PME 248 KBRS £ 9 RS JIE] 1

ek 249 TAKEREET Fab JIE] 1

ME 250 FKER S £ PR (T-25 & VhA) J[E] 1

ME 251 sz 07— (¢ 100) [ 1

M 252 e 07— (¢ 150) [ 1

pE 263 |z 07— (¢200) fiA L

ME 254 HIED AR GRA) (W150) H 2

B 255 Fuikd MiAE =N (R H) (W200) = 2

R 256 RS i (R H) (W300) L 2




EARXRTKEERERETEXBELENREN)

5y No. T 4 W b S
T 1 B L (£ BT ) DT 125
=y 2 ENR S s NI 0
JE 3 S D A7 A L DT 437
e 4 FIELL DI 45
=y 5 =2 7)) —REJEIE T NI 145
JE 6 e FJELET 7T 15
JE 7 FI BT EBERE T DT 10
JE 8 FT EAHL L T 80
JE 9 PHZE T DT 5
JE 10 FINERET T 140
JE 11 a7V —RET A L T 10
JE 12 R FI e L AT 10
JEN 13 HHFHA T (o h—L) 7T 100
J 14 PREREE T T 10
JE 15 JE M)A E T (W=400) AT 10
I 16 RS EE T (W=150 AFE%) DT 92
S 17 E RSP ET (W=150 EEE) T 10
= 18 WA e s - R L NI 30
JE 19 e r—T )V HFR T DT 0
= 20 Bk~ R— L0 R L DT 139
JE 21 Rk~ s — b - I i dm L AT 10
5 22 O PR it g% mR L DAL 0
- 23 A idcEEx Cry b i L 54 0
= 24 Bt E fitiax (7 73 BRI\ I T L NI 0
ek 25 L sy OK i hilE =) JE i L DEE 0
JE 26 HA T = AR A L DT 20
JE 27 N ALK A T AT 4287
ek 28 AEEAT H A T m 200.0
- 29 AE AT A L m 2410.0
= 30 WU R A7 9 L m 100.0
ik 31 AT Rk A7 A T DT 10
- 32 U Rk A7 985 T (FRA) m 200.0
J 33 U ek A7 A L (FFA) T 15
Rk 34 U & e far L DT 80
e 35 WU & E T L CRIEZ) NI 10
B 36 i Py B 1 h 132.0
B 37 o /K By S T h 88.0
JE 38 A GG L m 282.0
= 39 /N o — I BLERiS T (4t) h 88.5
= 40 /3% 2 — I\ HLjE RS 1(8t) h 37.0
ek 41 T O AFE) T 15 200
J 42 HiE Bk T m 0.0
Rk 43 BB K E T I fm L DT 15
e 44 EHRAKET 2B ET AR L DT 12
J 45 8 PN i iE44 (o 150) m 427.6
= 46 W& N mERE T (¢ 150) NG 93
B 47 BERNmERET (¢ 150~200) DT 0
= 48 ‘BN I ERE T (¢ 2560~380) AT 37
= 49 BN ERE T (¢ 400~450) NG 10
B 50 BRNmERET (¢ 500~600) DT 3
= 51 B RN IERE T (¢ 700~750) AT 0
JE 52 — (AN AR AE T ( 250~300) P 3
B 53 — AR N i E 1 (¢ 350) DT 0
Bt 54 — RN A E T (¢ 400~450) T 0
JE 55 B A= 1 T (¢ 2560~300) 7P 1
= 56 Xy A1 — 1K L (¢ 200~350) L 107.0
J 57 37— 1E K T. (¢ 400~600) L 149.0
= 58 S U BR 25 T (AR DT 3
5 59 E)LAVERE T (B #R) T 3
S 60 ARAR <o B2 T (R ) T 3
B 61 EILHIVERET.(ANN) P 4
5 62 B O BT (B AR) NI 8
J= 63 A 23— R IR A T (5em Ai) m2 31.0
= 64 A= R IR FEE T (5em DL |) m2 31.0
5 65 EEEGEEN m 43.5
S 66 fav B TH T m3 10.0
=y 67 EiEEIH T m2 30.0
5 68 S RIE I T m2 30.0
JE 69 AL —ay U TIEIH T m2 10.0
Jik 70 PEHI T m3 10.0
&k 71 PREL T m2 7138.9
JE 72 X0 AL t 2.350
B 73 B T (825 20cm i) N 10
Rk 74 BT (@ )5 20cm L -30cm A< ) K 10
JE 75 B T (885 30cmPL F-60cmAjim) N 10
JE 76 HE DR - BN T S 3
R 77 B[] oD IR TE T AT 3
- 78 SN T 10
J 79 ‘B B LB A R T NI 325
& 80 i bR e R T 2T 22




FEARTKEEREFEERBELENRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 20.0
= 82 K E A K SRR T km 5
JE 83 =) — N B PR ALEE T t 3.000
= 84 R L T t 20.000
Je 85 T HhiEHR T m3 1.0
JE 86 YRV BEA TR ALEE T t 1.000
J= 87 BE T 7 AT~ 7 TR ALER T t 0.020
JE 88 T KETG RS E Ak T (4t) [m] 14
B 89 T KIE VG e 1 (8t) [E] 7
J 90 27— ZEE R T B 2
= 91 = L MEM I m3 5.0
JE 92 B SR T t 1.000
JE 93 Ao TR ERE T % 2
i 94 &7 @as T (0~40m3 Ay 1F Hf) = H 2
IS 95 A7 s L (0~40m3 A o ) i H 2
S 96 &7 dEns L (40~120m3 Vi TF ) = H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BX R V(i T h 1.0
J= 99 RSB HEA AH 15.0
= 100 Rk i 5B AH 15.0
" 101 BiHER A T (9 B &) DT 10
w 102 ATE D AT A T I 10
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
" 111 YR F9 ek L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 20
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 3
® 120 AEIEAT B AR L m 20.0
® 121 K A7 A L m 200.0
®" 122 U R 0 A7 Bt 1T m 10.0
® 123 AT & Bk 1 AT & L I 1
® 124 U R ek 0 A7 et L (FFA ) m 0.0
" 125 BB Rk A7 A L (FFiA) NI 0
w" 126 R i AN 10
1’ 127 U & E T L CRIEZE) NI 3
" 128 15 PEYF BRI h 15.0
" 129 Fo 7K ELYE S h 12.0
1’ 130 A GG m 10.0
" 131 /N o— s (40 h 9.0
" 132 /N o — SHLE RS 1(8t) h 4.0
1’ 133 T O AFE) T = 100
" 134 E K ES Jhw L P 0
® 135 EHRAKET 2B ET SR L DHE 0
" 136 & N e (¢ 150) m 28.0
" 137 B N & fRE L (¢ 150) NG 6
® 138 ERBENIEERE T (¢ 150~200) DI 1
" 139 BN iERE T (¢ 250~380) DHE 1
" 140 BN HEERE L (6 400~450) ANGIN 1
® 141 BRENmEERET (¢ 500~600) AT 0
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 0
" 146 Bt 7EEIE T (¢ 250~300) DI 0
w" 147 3> 71— 1EK T (¢ 200~350) L 0.0
1’ 148 34— 1E KL (¢ 400~600) L 0.0
" 149 ZE T E BRE T (BEHR) DHT 1
®" 150 E/LZVERE T (B NI 1
" 151 AAR - X R T (B ) NI 1
I 152 E)LAVERRE T (N ) T 1
" 153 e DA BT () NI 1
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A N— R IR T (5em DL ) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 3.0
" 158 BiIEEIH T m2 5.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




FARTKEEREFEEXRBELENRER)

53 No. T A B b A
[ 161 FERT L m3 0.0
" 162 PReE T NI 5
w" 163 R A S B R A T h 10.0
w 164 T KEE KRR T km 20
" 165 R 7R EME T DAL 0
" 166 &7 ERn T (0~40m3 ATy TF A F) B H 0
® 167 &7 dis L (40~120m3 AT TF W) BH 0
" 168 XA e Y h 1.0
" 169 RSB HEA AH 1.0
®" 170 A 2 H B AH 15.0

ME 201 HAREST HE JLal) i 80

E 202 15K ET S O JIE] 80

M 203 75K ES H B (IHA) JIE] 15

ME 204 1K E T aE (Glhm) i 50

ME 205 HAKET RS E@EES) i) JIE] 15

M 206 15K E 3 IS JIE] 6

ME 207 15K E9 H K J[E] 5

Kk 208 15K E3 S cm 570

ML 209 Fepkih /K £9 BB JIE] 1

ME 210 FrRiG K £4 L5682 JIE] 1

B 211 Fepkis 7K £9 R JIE] 1

L 212 FeRiG K £ T8 JIE] 1

B 213 FEERG K £ SRR 1lE 1

R 214 REEE (¢ 100) m 5.0

B 215 HatE (¢ 150) m 10.0

Bk 216 SL_ESOE FHE R E (¢ 200) m 10.0

R 217 PREEAIEFTEEE (5 /K /KIEH) 1 3

e 218 TV E HAIARET (4 200) & 3

B 219 |HHE F{EliE (¢ 100 15°_30° ) {E 2

R 220 |Gt AfEmE (¢ 150 15° 307 ) {E 2

MEH 221 A 7)== (¢ 150 X 100) 1E] 1

Mkt 222 A 7)== (¢ 200 X 150) & 1

BB 223 |BREI7 (¢ 150) [l 2

e 224 §5 597 (¢ 200) [ 1

M 225 B 57 1IE 7 (¢ 100) JIE] 1

FIEF 226 PG5 IET (¢ 150) 1] 1

e 227 WrEhE O ) (CEE TR . 15

Mk 228 Wl (Wil H) & 15

FE} 229 JV—F ) RER R E [ 1

L 230 EHRAKETHE JIE] 2

AL 231 EHRARESTHH EE JIE] 2

A 232 EHIRN K E9 P JIE] 2

B 233 THIURN K E3 TR cm 20

M 234 EHRKET H b JIE] 2

ME 235 JL—AH7—($ 100) JIE] 2

FE 236 J)L—A 57— (¢ 150) [ 3

M 237 T AL~k 1 290

ME 238 T ISR ZN 3

WE 239 |SP% (¢ 150) G 2

MEH 240 |iH#EIK A 2

HE 241 |15 AKPHERE I (e P de) il 2

ME 242 VU7 (¢ 100) [ 2

ML 243 VUFry7 (¢ 150) JIE] 3

ME 244 VUFvv7 (¢ 200) JIE] 3

ME 245 T KER S e H & 07404 (¢ 150) JIE] 10

ek 246 T KIE RS e e 0 7404 (¢ 200) J[E] 10

e 247 TKEREES EEL AR IVMNA) JIE] 1

PME 248 KBRS £ 9 RS JIE] 1

ek 249 TAKEREET Fab JIE] 1

ME 250 FKER S £ PR (T-25 & VhA) J[E] 1

ME 251 sz 07— (¢ 100) [ 3

M 252 e 07— (¢ 150) [ 2

pE 263 |z 07— (¢200) fiA L

ME 254 HIED AR GRA) (W150) H 2

M 255 HIED BiaENCRH) (W200) S 2

R 256 RS i (R H) (W300) L 2




ETRTKEERHHGFEEXRBEERTRNREN)

5y No. T 4 W b S
T 1 B L (£ BT ) DT 30
=y 2 EXR S0 NI 131
JE 3 S D A7 A L NI 367
e 4 FIELL DI 105
=y 5 =2 7)) —REJEIE T NI 65
JE 6 e FJELET 7T 10
JE 7 FI BT EBERE T NI 5
JE 8 FT EAHL L T 30
JE 9 PHZE T DT 2
JE 10 FINERET DT 70
JE 11 a7V —RET A L T 6
N 12 e F9 a% e L EIT 5
B 13 HHHE T. (= h—L) DT 50
J 14 PREREE T NI 3
JE 15 JE M)A E T (W=400) AT 10
JE 16 JE M)A E T (W=150 ke 5 ) DT 102
S 17 E RSP ET (W=150 EEE) T 10
= 18 WA e s - R L NI 10
JE 19 e r—T )V HFR T DT 0
= 20 Bk~ R— L0 R L DT 280
= 21 Frik~ L 7 —) L - O {E T L NI 3
Bk 22 B it % AR NG 34
- 23 A idcEEx Cry b i L 54 348
= 24 Bt E fitiax (7 73 BRI\ I T L NI 0
ek 25 L sy OK i hilE =) JE i L DEE 3
JE 26 HA T = AR A L DT 5
JE 27 N ALK A T AT 4692
ek 28 AEEAT H A T m 80.0
- 29 AE AT A L m 900.0
= 30 WU R A7 9 L m 10.0
ik 31 AT Rk A7 A T DT 1
- 32 U Rk A7 985 T (FRA) m 100.0
J 33 U Rk A7 i L (FRA) NI 5
Rk 34 U & e far L DT 30
e 35 WU & E T L CRIEZ) NI 10
B 36 i Py B 1 h 136.0
B 37 o /K By S T h 111.5
JE 38 A GG L m 133.0
= 39 /N o — I BLERiS T (4t) h 89.5
= 40 /3% 2 — I\ HLjE RS 1(8t) h 13.0
ek 41 T O AFE) T 15 50
J 42 HiE Bk T m 0.0
Rk 43 BB K E T I fm L DT 20
e 44 EHRAKET 2B ET AR L DT 183
J 45 8 PN i iE44 (o 150) m 639.4
= 46 B N {E#kE T (¢ 150) NI 139
B 47 BERNmERET (¢ 150~200) DT 2
= 48 ‘BN I ERE T (¢ 2560~380) AT 18
= 49 BN ERE T (¢ 400~450) NG 6
B 50 BRNmERET (¢ 500~600) DT 3
= 51 B RN IERE T (¢ 700~750) AT 0
JE 52 — (AN AR AE T ( 250~300) P 8
B 53 — AR N i E 1 (¢ 350) DT 5
Bt 54 — RN A E T (¢ 400~450) T 1
JE 55 B A= 1 T (¢ 2560~300) 7P 1
= 56 Xy A1 — 1K L (¢ 200~350) L 107.0
J 57 37— 1E K T. (¢ 400~600) L 149.0
= 58 S U BR 25 T (AR DT 1
5 59 E)LAVERE T (B #R) T 1
S 60 ARAR <o B2 T (R ) T 1
B 61 EILHIVERET.(ANN) P 2
5 62 B O BT (B AR) NI 1
J= 63 A 23— R IR A T (5em Ai) m2 81.0
= 64 A= R IR FEE T (5em DL |) m2 31.0
5 65 EEEGEEN m 32.0
S 66 fav B TH T m3 5.0
=y 67 EiEEIH T m2 5.0
5 68 S RIE I T m2 5.0
JE 69 AL —ay U TIEIH T m2 2.0
Jik 70 PEHI T m3 10.0
&k 71 PREL T m2 6973.1
JE 72 X0 AL t 4.230
= 73 %5 T ()5 20cm A i) A 3
e 74 fr T (& 20cm Ll _E30cm AT ) N 3
- 75 B T (885 30cmPL F-60cmAjim) N 2
JE 76 HE DR - BN T S 2
R 77 B[] oD IR TE T AT 2
- 78 SN T 21
J 79 ‘B B LB A R T NI 125
& 80 i bR e R T 2T 40




EEXTKEERHGFEERBEEEZNRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 20.0
= 82 K E A K SRR T km 5
JE 83 =) — N B PR ALEE T t 5.000
= 84 R L T t 15.000
Je 85 T HhiEHR T m3 1.0
JE 86 YRV BEA TR ALEE T t 1.000
J= 87 BE T 7 AT~ 7 TR ALER T t 0.020
JE 88 KBS Je S E R 1T (4t) [m] 15
B 89 T KIE VG e 1 (8t) ] 7
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 5.0
JE 92 B SR T t 1.000
JE 93 Ao TR ERE T % 0
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 0
IS 95 A7 s L (0~40m3 A o ) i H 0
S 96 &7 dEns L (40~120m3 Vi TF ) = H 0
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 0
JE 98 BX R V(i T h 1.0
J= 99 RSB HEA AH 10.0
= 100 Rk i 5B AH 10.0
" 101 BiHER A T (9 B &) DT 10
w 102 WU 0 A7 A T I 10
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
" 111 YR F9 ek L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 5
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 gk~ 7R — L - I O dm L AT 0
" 119 T ANV T = AR B2 L NI 0
® 120 AEIEAT B AR L m 10.0
® 121 K A7 A L m 210.0
®" 122 U R 0 A7 Bt 1T m 0.0
® 123 AT & Bk 1 AT & L I 0
® 124 U R ek 0 A7 et L (FFA ) m 0.0
" 125 BB Rk A7 A L (FFiA) NI 0
w" 126 R i AN 5
1’ 127 U & E T L CRIEZE) NI 1
" 128 1 ey B s h 5.0
" 129 Fo 7K ELYE S h 5.0
1’ 130 A GG m 0.0
" 131 /N o— s (40 h 5.0
" 132 /N o — SHLE RS 1(8t) h 0.0
1’ 133 T O AFE) T = 20
" 134 EFS K ET I fm L DT 0
® 135 EHRAKET 2B ET SR L DHE 0
" 136 & N e (¢ 150) m 23.0
" 137 B N & fRE L (¢ 150) NG 5
w" 138 ERBENIEERE T (¢ 150~200) DI 0
" 139 ‘BN I ERE T (¢ 2560~380) DT 0
" 140 BN ERE T (¢ 400~450) ANGIN 0
® 141 BRENmEERET (¢ 500~600) AT 0
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 0
w" 144 — RN mE A E T (6 350) DI 0
" 145 — AN e 1 (¢ 400~450) DT 0
" 146 Bt 7EEIE T (¢ 250~300) DI 0
w" 147 3> 71— 1EK T (¢ 200~350) L 0.0
1’ 148 34— 1E KL (¢ 400~600) L 0.0
" 149 ZE T E BRE T (BEHR) DHT 0
®" 150 E/LZVERE T (B NI 0
w” 151 AR o R T (FER) DT 0
®” 152 ENLHLVERET(ANN) AT 0
" 153 e DA BT () NI 0
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A N— R IR T (5em DL ) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 0.0
" 158 HIEEIET m2 0.0
®" 159 EAERE IR T m2 0.0
[ 160 AL —yX 7 EIH T m2 0.0




EEXTKEERHGFEEXRBEEEZNRE®Q)

53 No. T A B b A
[ 161 FERT L m3 0.0
& 162 |IRE L DS 3
" 163 AR BN A T h 10.0
w 164 T KEE KRR T km 20
" 165 R 7R EME T DAL 0
" 166 &7 dEs L (0~40m3 AT TF 2 HF) B H 0
® 167 &7 dis L (40~120m3 AT TF W) BH 0
fid 168 B Toat e Efi L h 1.0
fid 169 s EA AH 1.0
w 170 A 2 H B ANH 15.0

ME 201 HAREST HE JLal) [ 60

E 202 15K ET S O JIE] 60

M 203 HAKES H _EE (IHAD JIE] 10

ME 204 1K E T aE (Glhm) [ 35

ME 205 HAKET RS E@EES) i) JIE] 10

M 206 15K E 3 IS JIE] 6

ME 207 15K ET K & 5

B 208 15K E3 S cm 469

ML 209 Fepkih /K £9 BB JIE] 1

ME 210 FrRiG K £4 L5682 JIE] 1

e 211 Fepkis 7K £9 R JIE] 1

Mk 212 Rk K EST T & 1

B 213 FEERG K £ SRR 1lE 1

R 214 REEE (¢ 100) m 2.0

FEE 215 R (o 150) m 3.0

e 216 SL_ESOE FHE R E (¢ 200) m 3.0

ok 217 e RN L E T8 E (5K - /K m) JIE] 1

R 218 PREFIHEANKT (4 200) 1E] 1

PLEL 219 |HHE F{EliE (¢ 100 15°_30° ) {E 1

R 220 |Gt AfEmE (¢ 150 15° 307 ) {E 1

MEH 221 A 7)== (¢ 150 X 100) 1E] 1

Mkt 222 A 7)== (¢ 200 X 150) & 1

BB 223 |BREI7 (¢ 150) [l 1

e 224 §5 597 (¢ 200) [ 1

M 225 B 57 1IE 7 (¢ 100) JIE] 1

FIEF 226 PG5 IET (¢ 150) 1] 1

L 227 WrElE CEse ) (CHEE D %A, 5

Mk 228 Wl (Wil H) i 5

FE} 229 JV—F ) RER R E [ 1

L 230 EHRAKETHE [ 1

AL 231 EHRARESTHH EE JIE] 1

A 232 EHIRN K E9 P JIE] 1

B 233 THIURN K E3 TR cm 10

M 234 EHRKET H b JIE] 1

bE 235 L —Xh7— (¢ 100) f L

FE 236 J)L—A 57— (¢ 150) [ 1

BEE: 237 I L~k 1 11

ME 238 T ISR ZN 2

FE 239 SPE (¢ 150) N 2

M 240 TH R R N 2

HE 241 15 /KB B 8% 25 (A 3E) HH 2

ME 242 VU7 (¢ 100) [ 1

ML 243 VUFvy7 (¢ 150) JIE] 1

ME 244 VUFvv7 (¢ 200) [ 1

ME 245 T KER S e H & 07404 (¢ 150) [ 5

ek 246 T KIE RS e e 0 7404 (¢ 200) & 5

e 247 TKEREES EEL AR IVMNA) JIE] 1

PME 248 KBRS £ 9 RS JIE] 1

ek 249 TAKEREET Fab [ 1

ME 250 FKER S £ PR (T-25 & VhA) & 1

ME 251 sz 07— (¢ 100) [ 1

M 252 e 07— (¢ 150) [ 1

pE 263 |z 07— (¢200) fiA L

ME 254 HIED AR GRA) (W150) H 2

B 255 Fuikd MiAE =N (R H) (W200) = 2

R 256 RS i (R H) (W300) L 2




FHRTKEEREREERBERRTAREN)

5y No. T 4 W b S
T 1 B L (£ BT ) DT 101
=y 2 ENR S s NI 0
JE 3 S D A7 A L NI 367
e 4 FIELL DI 64
=y 5 =2 7)) —REJEIE T NI 95
JE 6 e FJELET 7T 10
JE 7 FI BT EBERE T NI 5
JE 8 FT EAHL L T 60
JE 9 PHZE T DT 0
JE 10 FINERET T 120
JE 11 a7V —RET A L T 10
JE 12 R FI e L AT 10
JEN 13 HHFHA T (o h—L) 7T 100
J 14 PR T NI 5
JE 15 JE M)A E T (W=400) AT 10
JE 16 JE M)A E T (W=150 ke 5 ) DT 105
S 17 E RSP ET (W=150 EEE) T 10
= 18 WA e s - R L NI 10
JE 19 e r—T )V HFR T DT 0
= 20 Bk~ R— L0 R L DT 106
JE 21 Rk~ s — b - I i dm L AT 5
5 22 O PR it g% mR L DAL 0
- 23 A idcEEx Cry b i L 54 0
= 24 Bt E fitiax (7 73 BRI\ I T L NI 0
ek 25 L sy OK i hilE =) JE i L DEE 0
JE 26 HA T = AR A L DT 20
Ji 27 N ALK A T AT 4729
ek 28 AEEAT H A T m 100.0
- 29 AE AT A L m 2290.0
= 30 WU R A7 9 L m 60.0
ik 31 AT Rk A7 A T DT 20
- 32 U Rk A7 985 T (FRA) m 200.0
J 33 U ek A7 A L (FFA) T 15
Rk 34 U & e far L DT 60
e 35 WU & E T L CRIEZ) NI 10
B 36 i Py B 1 h 49.0
B 37 o /K By S T h 38.0
JE 38 A GG L m 226.0
= 39 /N o — I BLERiS T (4t) h 44.0
= 40 /3% 2 — I\ HLjE RS 1(8t) h 11.0
ek 41 T O AFE) T 15 100
J 42 HiE Bk T m 0.0
Rk 43 BB K E T I fm L DT 10
e 44 EHRAKET 2B ET AR L DT 0
J 45 8 PN i iE44 (o 150) m 395.6
= 46 W& N mERE T (¢ 150) NG 86
B 47 BERNmERET (¢ 150~200) DT 1
= 48 ‘BN I ERE T (¢ 2560~380) AT 16
= 49 BN ERE T (¢ 400~450) NG 2
B 50 BRNmERET (¢ 500~600) DT 0
= 51 B RN IERE T (¢ 700~750) AT 0
JE 52 — (AN AR AE T ( 250~300) P 5
B 53 — AR N i E 1 (¢ 350) DT 0
Bt 54 — RN A E T (¢ 400~450) T 0
JE 55 B A= 1 T (¢ 2560~300) DI 0
= 56 Xy A1 — 1K L (¢ 200~350) L 107.0
J 57 37— 1E K T. (¢ 400~600) L 149.0
= 58 S U BR 25 T (AR DT 1
5 59 E)LAVERE T (B #R) T 1
S 60 ARAR <o B2 T (R ) T 3
B 61 EILHIVERET.(ANN) P 2
5 62 B O BT (B AR) NI 1
J= 63 A 23— R IR A T (5em Ai) m2 6.0
= 64 A= R IR FEE T (5em DL |) m2 6.0
5 65 EEEGEEN m 26.0
S 66 fav B TH T m3 8.0
=y 67 EiEEIH T m2 8.0
5 68 S RIE I T m2 8.0
JE 69 AL —ay U TIEIH T m2 2.0
Jik 70 PEHI T m3 5.0
&k 71 PREL T m2 4777.5
JE 72 X0 AL t 1.100
= 73 %5 T ()5 20cm A i) A 4
e 74 fr T (& 20cm Ll _E30cm AT ) N 2
- 75 B T (885 30cmPL F-60cmAjim) N 1
JE 76 HE DR - BN T S 1
R 77 B[] oD IR TE T AT 1
- 78 SN DT 3
J 79 ‘B B LB A R T NI 237
& 80 i bR e R T 2T 13




BHERTKEEREFEEXBELENRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 10.0
= 82 K E A K SRR T km 3
JE 83 =) — N B PR ALEE T t 3.000
= 84 R L T t 15.000
Je 85 T HhiEHR T m3 1.0
JE 86 YRV BEA TR ALEE T t 1.000
J= 87 BE T 7 AT~ 7 TR ALER T t 0.020
JE 88 KBS Je S E R 1T (4t) [m] 13
B 89 T KIE VG e 1 (8t) ] 2
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 3.0
JE 92 B SR T t 1.000
JE 93 Ao TR ERE T % 1
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 1
JE 95 &7 1Egn T (0~40m3 A<y i o) &= H 1
S 96 &7 dEns L (40~120m3 Vi TF ) = H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BX R V(i T h 1.0
J= 99 RSB HEA AH 15.0
= 100 Rk i 5B AH 10.0
" 101 BiHER A T (9 B &) DT 10
w 102 ATE D AT A T I 10
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
" 111 YR F9 ek L DT 0
i3 112 [BIHEHE T (v hR—)L) i 20
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 3
® 120 AEIEAT B AR L m 10.0
® 121 A A7 A T m 215.0
®" 122 U R 0 A7 Bt 1T m 0.0
® 123 AT & Bk 1 AT & L I 0
® 124 U R ek 0 A7 et L (FFA ) m 10.0
" 125 BB Rk A7 A L (FFiA) NI 1
w" 126 R i AN 5
1’ 127 U & E T L CRIEZE) NI 4
" 128 1 ey B s h 8.0
" 129 Fo 7K ELYE S h 8.0
1’ 130 A GG m 10.0
" 131 /N o— s (40 h 8.0
" 132 /N o — SHLE RS 1(8t) h 1.0
1’ 133 T O AFE) T = 100
" 134 EFS K ET I fm L DT 0
® 135 EHRAKET 2B ET SR L DHE 0
" 136 & N e (¢ 150) m 28.0
" 137 B N & fRE L (¢ 150) NG 6
® 138 ERBENIEERE T (¢ 150~200) DI 0
" 139 ‘BN I ERE T (¢ 2560~380) DT 0
" 140 BN ERE T (¢ 400~450) ANGIN 0
® 141 BRENmEERET (¢ 500~600) AT 0
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 0
w" 144 — RN mE A E T (6 350) DI 0
" 145 — AN e 1 (¢ 400~450) DT 0
" 146 Bt 7EEIE T (¢ 250~300) DI 0
w" 147 3> 71— 1EK T (¢ 200~350) L 0.0
1’ 148 34— 1E KL (¢ 400~600) L 0.0
" 149 ZE T E BRE T (BEHR) DHT 1
®" 150 E/LZVERE T (B NI 1
" 151 AAR - X R T (B ) NI 1
I 152 E)LAVERRE T (N ) T 1
" 153 e DA BT () NI 1
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A N— R IR T (5em DL ) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 0.0
" 158 BiIEEIH T m2 0.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




BHRTKEEREFEEXBELENREG)

%

<53 No. TOm 4 B P B4 Hi
[ 161 FERT L m3 0.0
& 162 |IRE L DS 5
" 163 AR BN A T h 10.0
w 164 T KEE KRR T km 20
" 165 R 7R EME T DAL 1
" 166 &7 dEs L (0~40m3 AT TF 2 HF) B H 1
® 167 &7 dis L (40~120m3 AT TF W) BH 1
fid 168 B Toat e Efi L h 1.0
fid 169 s EA AH 1.0
w 170 A 2 H B ANH 15.0
ME 201 HAREST HE JLal) [ 75
E 202 15K ET S O JIE] 75
M 203 HAKES H _EE (IHAD JIE] 10
ME 204 1K E T aE (Glhm) [ 25
ME 205 HAKET RS E@EES) i) JIE] 10
M 206 15K E 3 IS JIE] 5
ME 207 15K ET K & 5
B 208 15K E3 S cm 491
ML 209 Fepkih /K £9 BB JIE] 1
ME 210 FrRiG K £4 L5682 JIE] 1
e 211 Fepkis 7K £9 R JIE] 1
Mk 212 Rk K EST T & 1
B 213 FEERG K £ SRR 1lE 1
R 214 REEE (¢ 100) m 5.0
FEE 215 R (o 150) m 5.0
Bk 216 SL_ESOE FHE R E (¢ 200) m 10.0
ok 217 e RN L E T8 E (5K - /K m) JIE] 1
R 218 PREFIHEANKT (4 200) 1E] 1
B 219 |HHE F{EliE (¢ 100 15°_30° ) {E 1
R 220 |Gt AfEmE (¢ 150 15° 307 ) 1 1
MEH 221 A 7)== (¢ 150 X 100) 1E] 1
Mkt 222 A 7)== (¢ 200 X 150) & 1
BB 223 |BREI7 (¢ 150) [l 1
e 224 §5 597 (¢ 200) [ 1
M 225 B 57 1IE 7 (¢ 100) JIE] 1
FIEF 226 PG5 IET (¢ 150) 1] 1
L 227 WrElE CEse ) (CHEE D %A, 5
Mk 228 Wl (Wil H) i 5
FE} 229 JV—F ) RER R E [ 1
L 230 EHRAKETHE [ 1
AL 231 EHRARESTHH EE JIE] 1
A 232 EHIRN K E9 P JIE] 1
B 233 THIURN K E3 TR cm 20
M 234 EHRKET H b JIE] 1
bE 235 L —Xh7— (¢ 100) f L
FE 236 J)L—A 57— (¢ 150) [ 1
R 237 | A AL~k 1 265
ME 238 T ISR ZN 3
FE 239 SPE (¢ 150) N 2
M 240 TH R R N 1
ME 241 15 /KB B 8% 25 (A 3E) HH 1
ME 242 VU7 (¢ 100) [ 1
ML 243 VUFvy7 (¢ 150) JIE] 1
ME 244 VUFvv7 (¢ 200) [ 1
ME 245 T KER S e H & 07404 (¢ 150) [ 1
ek 246 T KIE RS e e 0 7404 (¢ 200) & 1
e 247 TKEREES EEL AR IVMNA) JIE] 1
PME 248 KBRS £ 9 RS JIE] 1
ek 249 TAKEREET Fab [ 1
ME 250 FKER S £ PR (T-25 & VhA) & 1
ME 251 sz 07— (¢ 100) [ 1
M 252 e 07— (¢ 150) [ 1
pE 263 |z 07— (¢200) fiA L
ME 254 HIED AR GRA) (W150) H 2
B 255 Fuikd MiAE =N (R H) (W200) = 2
R 256 RS i (R H) (W300) L 2




EETKEERMHSEEXBERENREN)

5y No. T 4 W b S
T 1 B L (£ BT ) DT 9%
=y 2 ENR S s NI 0
JE 3 S D A7 A L NI 367
e 4 FIELL DI 97
=y 5 =2 7)) —REJEIE T NI 105
JE 6 e FJELET 7T 15
JE 7 FI BT EBERE T NI 3
JE 8 FT EAHL L T 60
JE 9 PHZE T DT 1
JE 10 FINERET T 120
JE 11 a7V —RET A L T 10
JE 12 R FI e L AT 10
R 13 HIHFHE T (= h—1) 7T 40
J 14 PREREE T T 10
JE 15 JE M)A E T (W=400) AT 10
JE 16 JE M)A E T (W=150 ke 5 ) DT 158
S 17 E RSP ET (W=150 EEE) T 10
= 18 WA e s - R L NI 20
JE 19 e r—T )V HFR T DT 0
= 20 Bk~ R— L0 R L DT 324
JE 21 Rk~ s — b - I i dm L AT 1
5 22 O PR it g% mR L DAL 0
- 23 A idcEEx Cry b i L 54 0
= 24 Bt E fitiax (7 73 BRI\ I T L NI 0
ek 25 L sy OK i hilE =) JE i L DEE 0
JE 26 HA T = AR A L DT 20
JE 27 N ALK A T AT 6859
ek 28 AEEAT H A T m 10.0
- 29 AE AT A L m 3500.0
= 30 WU R A7 9 L m 120.0
ik 31 AT Rk A7 A T DT 3
- 32 U Rk A7 985 T (FRA) m 300.0
J 33 U ek A7 A L (FFA) T 25
Rk 34 U & e far L DT 50
e 35 WU & E T L CRIEZ) NI 15
B 36 i Py B 1 h 197.0
B 37 o /K By S T h 156.0
JE 38 A GG L m 251.5
= 39 /N o — I BLERiS T (4t) h 115.5
= 40 /3% 2 — I\ HLjE RS 1(8t) h 127.0
ek 41 T O AFE) T 15 200
J 42 HiE Bk T m 0.0
Rk 43 TH K ET Ta 6w L DT 5
e 44 EHRAKET 2B ET AR L DT 0
J 45 8 PN i iE44 (o 150) m 497.2
= 46 W& N mERE T (¢ 150) NG 107
B 47 BERNmERET (¢ 150~200) DT 4
= 48 ‘BN I ERE T (¢ 2560~380) AT 10
= 49 BN ERE T (¢ 400~450) NG 2
B 50 BRNmERET (¢ 500~600) DT 2
= 51 B RN IERE T (¢ 700~750) AT 0
JE 52 —{RRIN i A1E T (¢ 250~300) P 4
B 53 — AR N i E 1 (¢ 350) DT 1
Bt 54 — RN A E T (¢ 400~450) T 0
JE 55 B A= 1 T (¢ 2560~300) 7P 1
= 56 Xy A1 — 1K L (¢ 200~350) L 107.0
J 57 37— 1E K T. (¢ 400~600) L 149.0
= 58 S U BR 25 T (AR DT 5
5 59 E)LAVERE T (B #R) T 5
S 60 ARAR <o B2 T (R ) T 5
B 61 EILHIVERET.(ANN) P 2
5 62 B O BT (B AR) NI 5
J= 63 A 23— R IR A T (5em Ai) m2 21.5
= 64 A= R IR FEE T (5em DL |) m2 21.5
5 65 EEEGEEN m 13.0
S 66 fav B TH T m3 6.0
=y 67 EiEEIH T m2 4.0
5 68 S RIE I T m2 4.0
JE 69 AL —ay U TIEIH T m2 10.0
Jik 70 PEHI T m3 3.0
&k 71 PREL T m2 5094.4
JE 72 X0 AL t 3.020
= 73 %5 T ()5 20cm A i) A 5
e 74 fr T (& 20cm Ll _E30cm AT ) N 1
- 75 B T (885 30cmPL F-60cmAjim) N 1
JE 76 HE DR - BN T S 2
R 77 B[] oD IR TE T AT 2
- 78 SN DT 5
J 79 ‘B B LB A R T NI 256
& 80 i bR e R T 2T 52




AR T KEEBRHGEEXRFERENRE(2)

53 No. T A B b A
J= 81 b S e h 10.0
= 82 K E A K SRR T km 5
JE 83 =) — N B PR ALEE T t 5.000
= 84 R L T t 10.000
Je 85 T HhiEHR T m3 1.0
JE 86 YRV BEA TR ALEE T t 1.000
J= 87 WE T 5 AT~ TR VL T t 0.020
JE 88 KBS Je S E R 1T (4t) [m] 22
B 89 T KIE VG e 1 (8t) [E] 17
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 3.0
JE 92 B SR T t 1.000
JE 93 Ao TR ERE T % 1
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 1
JE 95 &7 1Egn T (0~40m3 A<y i o) &= H 1
S 96 &7 dEns L (40~120m3 Vi TF ) B H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BX R V(i T h 1.0
J= 99 RSB HEA AH 15.0
= 100 Rk i 5B A H 10.0
" 101 BiHER A T (9 B &) DT 20
w 102 ATE D AT A T I 20
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
"’ 111 e ETaE L DT 0
i3 112 [BIHEHE T (v hR—)L) i 10
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 0
® 120 AEIEAT B AR L m 30.0
® 121 K A7 A L m 240.0
®" 122 U R 0 A7 Bt 1T m 20.0
® 123 AT & Bk 1 AT & L NI 2
® 124 U R ek 0 A7 et L (FFA ) m 100.0
" 125 BB Rk A7 A L (FFiA) NI 10
® 126 R i DT 10
1’ 127 BB i L (R1ESE) NI 5
" 128 15 PEYF BRI h 19.0
" 129 Fo 7K ELYE S h 20.0
1’ 130 A GG m 10.0
® 131 /NF o — A LS (4t) h 17.0
" 132 /N o — SHLE RS 1(8t) h 1.0
1’ 133 T O AFE) T = 200
" 134 EFS K ET I fm L DT 10
® 135 EHRAKET 2B ET SR L DHE 10
" 136 & N e (¢ 150) m 42.5
" 137 B N & fRE L (¢ 150) NG 10
® 138 ERBENIEERE T (¢ 150~200) DI 0
" 139 ‘BN I ERE T (¢ 2560~380) DT 0
" 140 BN HEERE L (6 400~450) ANGIN 1
® 141 BRENmEERET (¢ 500~600) AT 1
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 1
" 146 Bt 7EEIE T (¢ 250~300) i 1
w 147 23 71— 1E7K T (¢ 200~350) L 0.0
1’ 148 34— 1E KL (¢ 400~600) L 0.0
" 149 ZE T E BRE T (BEHR) DHT 5
®" 150 E)LAVERE T (B k) NI 5
" 151 AAR - X R T (B ) NI 4
I 152 E)LAVERRE T (N ) T 3
" 153 e DA BT () NI 5
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A N— R IR T (5em DL ) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 2.0
" 158 BiIEEIH T m2 2.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




AR T KEEBRHGEEXRFEEENRE®R)

%

<53 No. TOm 4 B P B4 Hi
[ 161 FERT L m3 0.0
& 162 |IRE L DS 3
" 163 AR BN A T h 1.0
w 164 T KEE KRR T km 30
" 165 R 7R EME T DAL 1
" 166 &7 dEs L (0~40m3 AT TF 2 HF) B H 1
® 167 &7 dis L (40~120m3 AT TF W) BH 1
fid 168 B Toat e Efi L h 1.0
fid 169 s EA AH 1.0
w 170 A 2 H B ANH 20.0
ME 201 HAREST HE JLal) [ 75
E 202 15K ET S O JIE] 75
M 203 HAKES H _EE (IHAD JIE] 20
ME 204 1K E T aE (Glhm) [ 40
ME 205 HAKET RS E@EES) i) JIE] 15
M 206 15K E 3 IS JIE] 15
ME 207 15K ET K & 10
B 208 15K E3 S cm 579
ML 209 Fepkih /K £9 BB JIE] 2
ME 210 FrRiG K £4 L5682 JIE] 2
e 211 Fepkis 7K £9 R JIE] 2
Mk 212 Rk K EST T & 2
B 213 FEERG K £ SRR 1lE 2
R 214 REEE (¢ 100) m 5.0
FEE 215 R (o 150) m 3.0
e 216 SL_ESOE FHE R E (¢ 200) m 3.0
ok 217 e RN L E T8 E (5K - /K m) JIE] 5
R 218 PREFIHEANKT (4 200) 1E] 3
BB 219 [t AfElE (¢ 100 15° 30° ) {E 3
R 220 |Gt AfEmE (¢ 150 15° 307 ) 1 3
MEH 221 A 7)== (¢ 150 X 100) 1E] 1
Mkt 222 A 7)== (¢ 200 X 150) & 1
BB 223 |BREI7 (¢ 150) [l 1
e 224 §5 597 (¢ 200) [ 1
M 225 B 57 1IE 7 (¢ 100) JIE] 1
FIEF 226 PG5 IET (¢ 150) 1] 1
e 227 WrEhE O ) (CEE TR HH 10
Mk 228 Wl (Wil H) & 10
FE} 229 JV—F ) RER R E [ 1
L 230 EHRAKETHE [ 2
AL 231 EHRARESTHH EE JIE] 2
A 232 EHIRN K E9 P JIE] 2
B 233 THIURN K E3 TR cm 10
M 234 EHRKET H b JIE] 2
bE 235 L —Xh7— (¢ 100) f 2
FE 236 J)L—A 57— (¢ 150) [ 2
BEE: 237 I L~k 1 302
ME 238 T ISR ZN 3
FE 239 SPE (¢ 150) N 2
M 240 TH R R N 2
ME 241 15 /KB B 8% 25 (A 3E) HH 2
ME 242 VU7 (¢ 100) [ 2
ML 243 VUFvy7 (¢ 150) JIE] 2
ME 244 VUFvv7 (¢ 200) [ 2
ME 245 T KER S e H & 07404 (¢ 150) [ 1
ek 246 T KIE RS e e 0 7404 (¢ 200) & 1
e 247 TKEREES EEL AR IVMNA) JIE] 1
PME 248 KBRS £ 9 RS JIE] 1
ek 249 TAKEREET Fab [ 1
ME 250 FKER S £ PR (T-25 & VhA) & 1
ME 251 sz 07— (¢ 100) [ 2
M 252 e 07— (¢ 150) [ 1
pE 263 |z 07— (¢200) fiA L
ME 254 HIED AR GRA) (W150) H 2
B 255 Fuikd MiAE =N (R H) (W200) = 2
R 256 RS i (R H) (W300) L 2




AR TKEER#EGFEEXBEATNREN)

B No. T W 4 C g = 0440 ¥ A1
T 1 B L (£ BT ) DT 124
=y 2 F9 ks L NI 200
JE 3 S D A7 A L NI 791
e 4 FIELL DI 200
=y 5 =2 7)) —REJEIE T NI 130
JE 6 e FJELET NI 30
B 7 FI BT EBERE T DT 40
JE 8 FT EAHL L T 60
B 9 PHIE T DT 80
B 10 FINERET DT 200
JE 11 a7V —RET A L T 10
JE 12 R FI e L AT 10
R 13 HIHFHE T (= h—1) At 120
J 14 PREREE T NI 2
JE 15 JE M)A E T (W=400) NI 80
B 16 JEHEEPE T (W=150 fETE) NI 80
S 17 E RSP ET (W=150 EEE) T 28
= 18 WA e s - R L DT 30
JE 19 e r—T )V HFR T DT 3
- 20 Rk~ 7R—/ L« I 0 g L DT 200
= 21 Frik~ L 7 —) L - O {E T L DT 40
Bk 22 B it % AR NG 46
- 23 A idcEEx Cry b i L 54 220
= 24 A hax (773 - HEpR ) i fw L DT 20
Bk 25 A i ax (UKl E =) 154w L DEE 2
JE 26 HA T = AR A L DT 10
JE 27 N ALK A T AT 4225
ek 28 AEEAT H A T m 400.0
- 29 AE AT A L m 3000.0
= 30 WU R A7 9 L m 200.0
ik 31 AT Rk A7 A T DT 10
- 32 U Rk A7 985 T (FRA) m 200.0
= 33 U Rk A7 i L (FRA) NI 10
Rk 34 U & e far L DT 100
JE 35 WU & E T L CRIEZ) NI 10
B 36 i Py B 1 h 124.0
B 37 o /K By S T h 124.0
JE 38 A GG L m 20.0
= 39 /N o — I BLERiS T (4t) h 5.0
= 40 /3% 2 — I\ HLjE RS 1(8t) h 119.0
JE 41 DIk T 4= 20
J 42 HiE Bk T m 0.0
Rk 43 BB K E T I fm L DT 32
JE 44 EHRAKET 2B ET AR L DT 258
= 45 8 PN i iE44 (o 150) m 672.0
= 46 B N {E#kE T (¢ 150) NG 112
B 47 BERNmERET (¢ 150~200) NI 1
= 48 ‘BN I ERE T (¢ 2560~380) AT 5
= 49 BN ERE T (¢ 400~450) NG 1
B 50 BRNmERET (¢ 500~600) NI 0
= 51 B RN IERE T (¢ 700~750) AT 0
= 52 — (AN AR AE T ( 250~300) NG 1
B 53 — AR N i E 1 (¢ 350) DT 1
J 54 — (RN A AE T (¢ 400~450) T 0
JE 55 B A= 1 T (¢ 2560~300) 7P 1
B 56 3 77— 1EK T (¢ 200~350) L 5.0
JE 57 X 71— 1E7K T (¢ 400~600) L 5.0
= 58 S U BR 25 T (AR NI 1
5 59 LA )VERZE T (B ) DT 1
S 60 ARAR <o B2 T (R ) T 1
=y 61 ENLHNVERET(ANN) DAL 1
B 62 B O BT (B AR) NI 1
J= 63 A 23— R IR A T (5em Ai) m2 6.0
= 64 A= R IR FEE T (5em DL |) m2 9.0
5 65 EEEGEEN m 44.8
S 66 fav B TH T m3 5.0
=y 67 EiEEIH T m2 52.0
5 68 S RIE I T m2 32.0
JE 69 AL —ay U TIEIH T m2 2.0
Jik 70 PEHI T m3 22.0
&k 71 PREL T m2 7000.0
JE 72 X0 AL t 3.500
=y 73 R8¢ T (535 20cm A i) N 3
. 74 BT (@ )5 20cm L -30cm A< ) K 3
JE 75 B T (885 30cmPL F-60cmAjim) A 3
= 76 HE DR - BN T S 30
R 77 B[] oD IR TE T AT 2
- 78 SN T 5
= 79 BB B S UhLSR T NI 89
I 80 b e M S e R T 23T 29




AR FKEERHESEEERZRENRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 5.0
= 82 P KGEE KSR T km 15
JE 83 =) — N B PR ALEE T t 10.000
= 84 R L T t 3.000
Je 85 T HhiEHR T m3 5.0
JE 86 YRV BEA TR ALEE T t 1.300
JE 87 BE "7 AT 7 EHRALEL T t 1.000
JE 88 KBS Je S E R 1T (4t) e 5
B 89 T KIE VG e 1 (8t) [E] 52
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 20.0
JE 92 B SR T t 0.100
JE 93 Ao TR ERE T % 1
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 1
JE 95 &7 1Egn T (0~40m3 A<y i o) &= H 1
S 96 &7 dEns L (40~120m3 Vi TF ) B H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BTV T h 10.0
J= 99 RSB HEA AH 15.0
= 100 Rk i 5B A H 15.0
" 101 BiHER A T (9 B &) DT 10
w 102 ATE D AT A T I 2
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
"’ 111 e ETaE L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 5
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 20
® 120 AEIEAT B AR L m 250.0
® 121 K A7 A L m 20.0
®" 122 U R 0 A7 Bt 1T m 1.0
® 123 AT & Bk 1 AT & L I 20
® 124 U R ek 0 A7 et L (FFA ) m 1.0
" 125 BB Rk A7 A L (FFiA) NI 3
w" 126 R i AN 1
1’ 127 BB i L (R1ESE) NI 14
" 128 1 ey B s h 14.0
" 129 Fo 7K ELYE S h 0.0
1’ 130 A GG m 0.0
® 131 /NF o — A LS (4t) h 14.0
" 132 /N o — SHLE RS 1(8t) h 10.0
1’ 133 T O AFE) T 13 0
" 134 EFS K ET I fm L DT 10
® 135 EHRAKET 2B ET SR L DHE 10
" 136 & N e (¢ 150) m 30.0
" 137 B N & fRE L (¢ 150) NG 5
® 138 ERBENIEERE T (¢ 150~200) DI 1
" 139 BN iERE T (¢ 250~380) DHE 1
" 140 BN HEERE L (6 400~450) ANGIN 1
® 141 BRENmEERET (¢ 500~600) AT 0
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 0
" 146 Bt 7EEIE T (¢ 250~300) DI 0
w" 147 3> 71— 1EK T (¢ 200~350) L 10.0
1’ 148 34— 1E KL (¢ 400~600) I 10.0
" 149 ZE T E BRE T (BEHR) DHT 0
®" 150 LA )VERZE T (B ) NI 1
" 151 AAR - X R T (B ) NI 0
®” 152 ENLHLVERET(ANN) AT 0
" 153 e DA BT () NI 0
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A2 N—h IR A T (5em DL |) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 3.0
" 158 BiIEEIH T m2 5.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




AR TFKEERHESEEERZRENREQ)

%

<53 No. TOm 4 B P B4 Hi
[ 161 FERT L m3 0.0
& 162 |IRE L DS 3
" 163 AR BN A T h 2.0
w 164 T KEE KRR T km 1
" 165 R 7R EME T DAL 0
" 166 &7 ERn T (0~40m3 ATy TF A F) B H 0
® 167 &7 dis L (40~120m3 AT TF W) BH 0
" 168 BREXHS R T h 5.0
" 169 RSB HEA AH 0.0
®" 170 A 2 H B AH 7.0
ME 201 HAREST HE JLal) i 130
ME 202 15K FETH _EER (/)R JIE] 120
M 203 V5K ETH _EEE (IHAD) JIE] 0
ME 204 1K E T aE (Glhm) i 45
ME 205 HAKET RS E@EES) i) JIE] 3
M 206 15K E 3 IS JIE] 3
ME 207 15K E9 H K J[E] 5
Kk 208 15K E3 S cm 315
ML 209 Fepkih /K £9 BB JIE] 2
ME 210 FrRiG K £4 L5682 JIE] 2
e 211 Fepkis 7K £9 R JIE] 1
Mk 212 Rk K EST T & 1
B 213 FEERG K £ SRR 1lE 1
R 214 REEE (¢ 100) m 1.0
FEE 215 R (o 150) m 2.0
e 216 SL_ESOE FHE R E (¢ 200) m 3.0
ok 217 e RN L E T8 E (5K - /K m) JIE] 5
R 218 PREFIHEANKT (4 200) 1E] 5
BB 219 [t AfElE (¢ 100 15° 30° ) {E 3
R 220 |Gt AfEmE (¢ 150 15° 307 ) 1 3
MEH 221 A 7)== (¢ 150 X 100) 1E] 2
BB 222 A 7)== (¢ 200 X 150) 1l 10
e 223 B 597 (¢ 150) [ 30
e 224 §5 597 (¢ 200) [ 5
M 225 B 57 1IE 7 (¢ 100) JIE] 5
FIEF 226 PG5 IET (¢ 150) 1] 5
e 227 WrEhE O ) (CEE TR HH 18
Mk 228 Wl (Wil H) & 18
FE} 229 JV—F ) RER R E [ 3
L 230 EHRAKETHE JIE] 5
AL 231 EHRARESTHH EE JIE] 5
A 232 EHIRN K E9 P JIE] 1
B 233 THIURN K E3 TR cm 3
M 234 EHRKET H b JIE] 1
bE 235 L —Xh7— (¢ 100) f L
FE 236 L—2 77— (¢ 150) [ 10
M 237 T AL~k 1 100
ME 238 T ISR ZN 1
FE 239 SPE (¢ 150) N 5
M 240 TH R R N 1
ME 241 15 /KB B 8% 25 (A 3E) HH 1
ME 242 VU7 (¢ 100) [ 3
ML 243 VUFvy7 (¢ 150) JIE] 3
ME 244 VUFvv7 (¢ 200) JIE] 1
ME 245 T KER S e H & 07404 (¢ 150) JIE] 50
ek 246 T KIE RS e e 0 7404 (¢ 200) J[E] 5
e 247 TKEREES EEL AR IVMNA) JIE] 1
PME 248 KBRS £ 9 RS JIE] 1
ek 249 TAKEREET Fab JIE] 1
ME 250 FKER S £ PR (T-25 & VhA) J[E] 1
ME 251 sz 07— (¢ 100) [ 1
M 252 e 07— (¢ 150) [ 1
pE 263 |z 07— (¢200) fiA L
ME 254 HIED AR GRA) (W150) H 1
B 255 Fuikd MiAE =N (R H) (W200) = 1
R 256 RS i (R H) (W300) L 1




FRETKEERHGFEREXBEEERNRE (1)

5y No. T 4 W b S
T 1 B L (£ BT ) DT 288
=y 2 EXR S0 NI 200
JE 3 S D A7 A L NI 691
e 4 FIELL DI 100
=y 5 =2 7)) —REJEIE T NI 80
JE 6 e FJELET 7T 15
JE 7 FI BT EBERE T DT 20
S 8 FT EAHL L NI 130
B 9 FRZE L DT 30
JE 10 FINERET T 200
JE 11 a7V —RET A L T 5
N 12 e F9 a% e L EIT 5
JEN 13 HHFHA T (o h—L) 7T 100
J 14 PREREE T NI 2
JE 15 JE M)A E T (W=400) AT 70
I 16 RS EE T (W=150 AFE%) DT 70
S 17 E RSP ET (W=150 EEE) T 20
= 18 WA e s - R L NI 32
JE 19 e r—T )V HFR T T 14
JR 20 ek~ o R— L0 R R T AT 20
JE 21 Rk~ s — b - I i dm L AT 5
Bk 22 B it % AR NG 40
- 23 A idcEEx Cry b i L 54 0
= 24 Bt E fitiax (7 73 BRI\ I T L NI 1
ek 25 L sy OK i hilE =) JE i L DEE 1
JE 26 HA T = AR A L DT 2
JE 27 N ALK A T AT 3060
ek 28 AEEAT H A T m 300.0
- 29 AE AT A L m 3000.0
= 30 WU R A7 9 L m 200.0
ik 31 AT Rk A7 A T DT 10
- 32 U Rk A7 985 T (FRA) m 200.0
J 33 U Rk A7 i L (FRA) NI 10
Rk 34 U & e far L DT 100
e 35 WU & E T L CRIEZ) NI 10
B 36 i Py B 1 h 109.0
B 37 o /K By S T h 109.0
JE 38 A GG L m 50.0
= 39 /N o — I BLERiS T (4t) h 5.0
= 40 /3% 2 — I\ HLjE RS 1(8t) h 104.0
ek 41 T O AFE) T 15 5
J 42 HiE Bk T m 0.0
Rk 43 BB K E T I fm L DT 10
e 44 EHRAKET 2B ET AR L DT 258
J 45 8 PN i iE44 (o 150) m 612.0
= 46 W& N mERE T (¢ 150) NG 102
B 47 BERNmERET (¢ 150~200) DT 1
= 48 ‘BN I ERE T (¢ 2560~380) AT 1
= 49 BN ERE T (¢ 400~450) NG 0
B 50 BRNmERET (¢ 500~600) DT 0
= 51 B RN IERE T (¢ 700~750) AT 0
JE 52 — (AN AR AE T ( 250~300) P 1
B 53 — AR N i E 1 (¢ 350) DT 0
J 54 — (RN A AE T (¢ 400~450) T 0
JE 55 B A= 1 T (¢ 2560~300) 7P 1
= 56 Xy A1 — 1K L (¢ 200~350) L 5.0
i 57 37— 1E K T. (¢ 400~600) L 5.0
= 58 S U BR 25 T (AR DT 1
JE 59 LA )VERZE T (B ) T 1
S 60 ARAR <o B2 T (R ) T 1
B 61 EILHIVERET.(ANN) P 1
5 62 B O BT (B AR) NI 1
J= 63 A 23— R IR A T (5em Ai) m2 2.0
= 64 A= R IR FEE T (5em DL |) m2 1.0
5 65 EEEGEEN m 16.0
S 66 fav B TH T m3 5.0
=y 67 EiEEIH T m2 32.0
5 68 S RIE I T m2 32.0
JE 69 AL —ay U TIEIH T m2 2.0
Jik 70 PEHI T m3 12.0
&k 71 PREL T m2 22400.0
JE 72 X0 AL t 1.000
= 73 %5 T ()5 20cm A i) A 3
e 74 fr T (& 20cm Ll _E30cm AT ) N 3
- 75 B T (885 30cmPL F-60cmAjim) N 3
JE 76 HE DR - BN T S 1
R 77 B[] oD IR TE T AT 1
- 78 SN T 10
J 79 ‘B B LB A R T NI 180
& 80 i bR e R T 2T 13




FHEETKEERHSEEXBERENRE(2)

53 No. T A B b A
J=y 81 THHEZH 2 1B B3 h 5.0
= 82 P KGEE KSR T km 29
JE 83 =) — N B PR ALEE T t 5.000
= 84 R L T t 1.000
Je 85 T HhiEHR T m3 5.0
JE 86 YRV BEA TR ALEE T t 1.300
JE 87 BE "7 AT 7 EHRALEL T t 1.000
JE 88 KBS Je S E R 1T (4t) e 5
B 89 T KIE VG e 1 (8t) [E] 48
J 90 27— ZEE R T B 1
= 91 = L MEM I m3 5.0
JE 92 B SR T t 0.100
JE 93 Ao TR ERE T % 1
5 94 [k 7 s L (0~40m3 Al 1F £ H) =l 1
JE 95 &7 1Egn T (0~40m3 A<y i o) &= H 1
S 96 &7 dEns L (40~120m3 Vi TF ) B H 1
B 97 Ay 7 ks L (40~120m3 K1 i ) =l 1
JE 98 BTV T h 10.0
J= 99 RSB HEA AH 3.0
= 100 Rk i 5B A H 3.0
" 101 BiHER A T (9 B &) DT 10
w 102 ATE D AT A T I 2
" 103 F9 L LT I 0
" 104 2 7)—hEJTEIE T DT 0
" 105 e FIEET DT 0
" 106 9 U E S RE T DT 0
" 107 FIEHAH T DT 0
w" 108 BHZE T i 0
" 109 FTNERE L DT 0
1’ 110 2 7)—RETEXE L T 0
"’ 111 e ETaE L DT 0
®’ 112 BLHIFH A T (w2 h—1) AT 5
" 113 S fE T (W=400) DI 0
® 114 e E T (W=150 fk &) DT 0
® 115 EEEPET (W=150 [EHE%) NI 0
®" 116 e r—7 L EfR T DT 0
I 117 ek~ R — L O R R T AT 0
" 118 Rk~ L h—)L - O {E f L AT 0
" 119 T ANV T = AR B2 L NI 0
® 120 AEIEAT B AR L m 210.0
® 121 K A7 A L m 10.0
®" 122 U R 0 A7 Bt 1T m 1.0
® 123 AT & Bk 1 AT & L I 20
® 124 U R ek 0 A7 et L (FFA ) m 1.0
" 125 BB Rk A7 A L (FFiA) NI 1
w" 126 R i AN 1
1’ 127 U & E T L CRIEZE) T 4
" 128 1 ey B s h 4.0
" 129 Fo 7K ELYE S h 0.0
1’ 130 A GG m 0.0
® 131 /NF o — A LS (4t) h 4.0
" 132 /N o — SHLE RS 1(8t) h 1.0
1’ 133 T O AFE) T 13 0
" 134 E K ES Jhw L P 5
® 135 EHRAKET 2B ET SR L DHE 5
" 136 & N e (¢ 150) m 30.0
" 137 B N & fRE L (¢ 150) NG 5
w" 138 ERBENIEERE T (¢ 150~200) DI 1
" 139 BN iERE T (¢ 250~380) DHE 1
" 140 BN ERE T (¢ 400~450) ANGIN 0
w" 141 BRENmEERET (¢ 500~600) AT 0
" 142 BN ERE T (¢ 700~750) DHE 0
" 143 — AN AE T (¢ 250~300) DAL 1
w" 144 — RN mE A E T (6 350) DI 1
" 145 — AN e 1 (¢ 400~450) DT 0
" 146 Bt 7EEIE T (¢ 250~300) DI 0
w" 147 3> 71— 1EK T (¢ 200~350) L 10.0
1’ 148 34— 1E KL (¢ 400~600) I 10.0
" 149 ZE T E BRE T (BEHR) DHT 0
®" 150 E/LZVERE T (B NI 1
w” 151 AR o R T (FER) DT 0
®” 152 ENLHLVERET(ANN) AT 0
" 153 e DA BT () NI 0
w 154 A2 N— R IR AR T (5em Ai) m2 0.0
" 155 A N— R IR T (5em DL ) m2 0.0
" 156 H HiE T m 0.0
"’ 157 Fays i 1H T m3 3.0
" 158 BiIEEIH T m2 5.0
®" 159 EAERE IR T m2 5.0
[ 160 AL —yX 7 EIH T m2 0.0




FHRETKEERHSEEXRBHERENRE®)

%

<53 No. TOm 4 B P B4 Hi
[ 161 FERT L m3 0.0
" 162 PReE T NI 3
" 163 AR BN A T h 2.0
I 164 T KEE KRR T km 1
" 165 R 7R EME T DAL 0
" 166 &7 ERn T (0~40m3 ATy TF A F) B H 0
® 167 &7 dis L (40~120m3 AT TF W) BH 0
" 168 XA e Y h 5.0
® 169 RSB HEA AH 0.0
w 170 A 2 H B AH 7.0
ME 201 HAREST HE JLal) i 159
E 202 15K ET S O JIE] 75
M 203 75K ES H B (IHA) JIE] 0
ME 204 1K E T aE (Glhm) i 44
ME 205 HAKET RS E@EES) i) JIE] 0
M 206 15K E 3 IS JIE] 1
ME 207 15K E9 H K J[E] 1
Kk 208 15K E3 S cm 276
ML 209 Fepkih /K £9 BB JIE] 2
ME 210 FrRiG K £4 L5682 JIE] 2
B 211 Fepkis 7K £9 R JIE] 1
BB 212 R K EST T 1E] 2
B 213 FEERG K £ SRR 1lE 1
R 214 REEE (¢ 100) m 3.0
FEE 215 R (o 150) m 3.0
e 216 SL_ESOE FHE R E (¢ 200) m 2.0
R 217 PREEAIEFTEEE (5 /K /KIEH) 1 3
e 218 TV E HAIARET (4 200) & 1
Bk 219 e B E (o 100 15° 30° ) JIE] 1
A 220 e BTERE (¢ 150 15° 30° ) JIE] 1
MEH 221 A 7)== (¢ 150 X 100) 1E] 2
Mkt 222 A 7)== (¢ 200 X 150) & 3
PR 223 |BiRIV7 (¢ 150) [l 10
e 224 §5 597 (¢ 200) [ 5
M 225 B 57 1IE 7 (¢ 100) JIE] 3
M 226 5 i IE 5 (¢ 150) JIE] 3
e 227 WrEhE O ) (CEE TR . 18
Mk 228 Wl (Wil H) & 18
FE} 229 JV—F ) RER R E [ 2
L 230 EHRAKETHE JIE] 2
AL 231 EHRARESTHH EE JIE] 2
A 232 EHIRN K E9 P JIE] 1
B 233 THIURN K E3 TR cm 1
M 234 EHRKET H b JIE] 1
bE 235 L —Xh7— (¢ 100) f L
FE 236 J)L—A 57— (¢ 150) [ 2
BEE: 237 I L~k 1 20
FE 238 [TICH S 2
FE 239 SP& (¢ 150) N 3
M 240 TH R R N 1
HE 241 15 /KB B 8% 25 (A 3E) HH 1
ME 242 VU7 (¢ 100) [ 2
ML 243 VUFry7 (¢ 150) JIE] 2
ME 244 VUFvv7 (¢ 200) JIE] 1
ME 245 T KER S e H & 07404 (¢ 150) JIE] 50
ek 246 T KIE RS e e 0 7404 (¢ 200) J[E] 1
e 247 TKEREES EEL AR IVMNA) JIE] 1
PME 248 KBRS £ 9 RS JIE] 1
ek 249 TAKEREET Fab JIE] 1
ME 250 FKER S £ PR (T-25 & VhA) J[E] 1
ME 251 sz 07— (¢ 100) [ 1
M 252 e 07— (¢ 150) [ 1
pE 263 |z 07— (¢200) fiA L
ME 254 HIED AR GRA) (W150) H 1
M 255 HIED BiaENCRH) (W200) S 1
R 256 RS i (R H) (W300) L 1




